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TOPIC: ALGEBRA

DIRECTION: Choose the correct answer from the lettered options.

1. 1 think of a number. | take away 14. The result is 13. What number am | thinking of?
A -1

B. 27

C.-27

D.1

2 Solve the equation,

X+ 2 X =3
S5 2 3 +1

A x<3
B.x2>3
C.x<-3
D.x2-3

3. The middle of three consecutive numbers is h find the other two numbers and the sum of
the three numbers.

B. 8h
C.5h
D. 3h
E.h

4.1 think of a number. | multiply it by 7. 1 add 12. The result is 40. What is the number | am
thinking of?

A5
B.3
C. 4
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D.6

5. The perimeter of a rectangle is 30 cm and its length is x cm. Find its area in terms of x.
A. (30x - x?) cm?

B. (15x - x?) cm?

C. (15x? - x) cm?

D. (30x + x) m?

6. Solve the equation,

7;x =1
A5
B.9
C.-5
D.-3

7. The perimeter of a rectangle is 30 cm and its length is x cm. Find its breadth in terms of x.
A. (30 -x) cm

B.(15-x) m
C. (30 +x) cm
D. (15 -x)cm

8. Idahtonye has ¥50.00. He buys six mangoes and gets N2 change. Find the average cost
of one mango.

A. N6
B. N7
C. N9
D. N8

9. A dog cost Np and a chicken costs Ns less than a dog. Find the cost of two dogs and one
chicken.

AN (3p-5s)
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B.N(2p-5s)
C.¥(p-2s)
D. ¥ (s-3p)
E.N(2s+p)

10. Solve for m and n in

15m +10n = 60,
15m - 9n = 3.

Am=2n=5
Bm=1n=5
Cm=3n=2
Dm=2,n=3
Em=5n=4

11. The greater of two consecutive numbers is a. Find the sum of the two numbers and
subtract the sum of the two numbers from 5a.

A Ba+7
B.5a+8
C.a+1
D.3a+1
E.2a+3
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TOPIC: ANGLES

DIRECTION: Choose the correct answer from the lettered options.

1. Find angle m’, L” and n°
N /
e
—ree.
350\1}92:/“0
mt :,'E

A.m° =45° L°=75° n°=105°

B. m° =110¢°, L° = 65, n° = 50°
C. me° =45°, L° =135° n° = 45°
D. m°®=78° L°=75° n°®=75°
E. me° =45°, L° =125°, n° = 45°

2. Find the value of X wheny =2 % cm and Z = 6cm
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3. A pole is 95m high. Calculate the angle of elevation of its top from a point 150m away on
the ground level.

A. 25.8°
B. 32.4°
C.32.3°
D.53.4°
E. 33.4°

4. A cone is 11lcm high and its vertical angle is 74°. Calculate the radius of its base.
A. 6.3cm
B. 8.9cm
C.9.8cm
D. 8.3cm
E. 5.6cm

5. A tree is standing vertically such that it stands 40cm above ground level. Find the length
of its shadow when the elevation of the same is 60°.

A. 40cm long
B. 33cm long
C.23cm long
D.57cm long
E. 44cm long

6. Two concentric circles have radii 2cm and 3cm respectively, calculate the ratio of their
areas.

A 49
B.7:88
C.7:198
D. 8:18
E. 9:88
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7. What is the value of sin 27.6° using four-figure table?
A. 0.4540
B. 0.3545
C.0.3525
D. 0.4555
E. 0.4633

8. Find the value of y when X = 16 and Z% = 60?

A7
B.4
C.12
D.8
E.14

9. Calculate y

B
50m
40 l
g il A
A.59.6m
B.50.9m
C.89.5m
D.29.6m
E.67.8m
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10. An aerial is 95m high. Calculate the angle of elevation of its top from a point 100m away
on level ground.

A.20.59°
B. 43.53°
C.17.41°

D. 35.80°
E. 44.73°

1. Find angle f°

120”// 3
—
R
A.120°
B. 30°
C.60°
D. 240°

E. 90°

12. If the angle of depression of A from B is 42°, what is the angle of elevation of B from A?
A.138°

B. 42°

C. 48°

D. 228°

E. 318°

13.  Find angle @’

A.220°
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B. 130°
C. 40°
D. 310°
E. 210°

14. From the diagram below, find the value of x and y hence find the area.

4x+3
4x-y 3x+1

X+BYy

A. 150cm?

B. 130cm?

C. 110cm?

D. 90cm?

E. 85cm?

15. The area of a triangle are X°, 2X° and 3X°. Find the value of X°.
A. 30°
B. 35°
C.40°
D. 80°
E. 20°

16. Calculate the value X" in the figure.

0 120°
X 60’

A. 40°
B. 60°
C. 80°
D. 100°
E. NO°
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TOPIC: AREA OF SHAPES

DIRECTION: Choose the correct answer from the lettered options.

1. Ifthe area of the triangle is 3.75cm”. What is the height?

A. 3.0cm
B. 2.5cm
C.7.5cm
D.5.0cm
E. 3.5cm

2. The area of a rectangle of length 10.5m is 84m2, what is the breadth?

A 7m
B.8m
C.7.4m
D. 9m
E. 8.4m

3. Calculate the area of the parallelogram.

,4\/\

10cm

-
-

4cm 7

A. 70cm#
B. 40cm?
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C. 90cm?
D. 35cm?
E. 160cm?

4. A rectangular tank 600cm long by 2m wide holds 36m? of water. How deep is the water in
the tank?

A.6m
B.5m
C.3m
D.9
E.1.5m

5. How many vertices has a cube?

A4
B.5
C.6
D.8
E.12

6. Find the length of the diagonal of a rectangular box which measures 12m by 5m.
A.60m

B. 30m
C.94.3m
D. 18m

E. 14m

7. A rectangular room 5m long and 4m wide contains 20m? of gas. Calculate the height of the
room.

A.3m
B.2m
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C.0.5m
D.Tm
E.B5m

8. How many trimake up a quadrilateral?

A1
B.2
C.3
D.4
E.5

9. Find the area of the shaded portion in the diagram.

10cm

/cm

10cm

A\

A. 93cm?
B. 61.5cm?
C.29cm?
D. 60cm?
E. 615cm?

10. Calculate the area of the triangle.

1.8

2

A. 4.0cm?
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B. 6.5cm?
C. 3.6cm?
D. 2.8cm?
E. 1.8cm?

11. Calculate the area of the trapezium ABCD.

D_ 5cm _C
/, =4 6cm
A 11cm B

A. 40cm?
B. 24cm?
C. 48cm?
D. 50cm?
E. 96cm?

12. Calculate the area of the quadrilateral.

13. How many sides has an heptagon?
A.5
B.6
C.7
D.8
Ey9
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TOPIC: CALCULATION USING STANDARD FORM

DIRECTION: Choose the correct answer from the lettered options.

1. Simplify 1.7 x 10* + 8.5 x 10® in standard form.
A.2.35 x 10*

B.23.5 x 10*

C.235x10*

D. 0.235 x 10®

E.2.35x10°®

2. Find the value of 2.7 x 10° - 3.5 x 10°.
A. 235 x10°

B. 2.35 x 10°

C.235x 10’

D. 2.35 x 10’

E. 0.235 x 10°

3. Simplify 3.85 x 108 - 2.36 x 108,
A. 150 x 108

B. 1.49 x 108

C.149x10°®

D. 1.49 x 10’

E.1.47 x 108

4. Simplify 1.1x 102 8.7 x 10 in standard form.
A. 2.3 x10*
B.2.3x103
C.2.3x10"
D.2.3x10™*
E.2.3x107
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5. Express 4.00 x 102 in ordinary form.
A. 400000

B. 4000.000

C. 400.000

D. 400

E. 40.000

6. Round off 28006 to the nearest ten.
A. 28000

B. 280010

C. 28010

D. 2800

E. 28100

7. Simplify (3 x 10%) = (7 x 1073).
A. 4.3 x10°
B. 2.1x 10°
C.43x104
D.1.0 x 108
E. 3.8 x10°

8. Express the following in ordinary form 9.36 x 10”.
A. 9, 360, 000

B. 93, 600, 000

C. 930, 600, 000

D. 0.0000000936

E. 936, 000
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9. Simplify (7 x 107) x (9 x 103).
A. 7.2 x 10"

B. 1.6 x 10

C.6.3x10™

D.5.9 x 10"

E. 8.3 x 10"

10. Round off 0.000666 to 1 significant figure.
A.O

B. 0.0006

C. 0.00066

D. 0.0007

E. 0.001

11. Divide 6 x 10° by 2 x 102
A.8x10°

B. 0.3 x 10°

C.12x10°¢

D. 3 x10¢

E.3x10

12. Express 60000 in standard form.
A.6.0 x 108

B.6 x 104

C.6.00 x 10?

D.6 x 10°

E. 600 x 104
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13. Express 28 thousandths as a decimal fraction.
A. 28000

B. 00028
C.0.0028
D.0.028

E. 0.2800

14. What significant figure is 0.055 rounded off to?
A1

B.2
C.3
D. 4
E.5

15. Express 4.387 x 10° in ordinary form.
A. 438700000

B. 43870000
C. 4.38700
D. 438700
E. 43.8700

7 3
16. Simplify =

) 9
A a™

a Xda

B.a”’
C.a’
D. a®

E.a°
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TOPIC: DIRECT AND INVERSE PROPORTION

DIRECTION: Choose the correct answer from the lettered options.

1. M varies directly as N and inversely as S. If K is the constant of variation, express K in terms
of M, N and S.

A.K=M/NS
B.K=MN/S
C.K=MS/N
D. K=N/MS
E.K=NS/M

2. A length of wire can be cut into six pieces each 27cm long. How many pieces each 17cm
long can be cut from the wire?

A. 8 pieces
B. 17 pieces
C. 9 pieces
D. 14 pieces
E. 10 pieces

3. Calculate the reciprocal of 0.67.
A. 3.946

B.1.493
C. 1590
D.2.783
E. 2.997

4.1f X varies inversely as y, and X = 9 when y = 3. Find X when y = 9?
A 46

B.4.5
C. 4

Page 20 of 266 Author: www.teststreams.com



Mathematics Exam Questions and Answers Pack

D. 3
E.-4

5. R is partly constant and partly varies with E. When R =530, E =1, 600 and when R =730, E
= 3, 600. Find the formula which connects R and E, find R when E = 1,300.

A. (1) R=160 +1/10, (Il) R = 290
B. (1) R=370 +1/10, (ll) R =500
C.(I) R=530 +1/10, () R = 660
D.(I) R=200 +1/10, (Il) R = 330
E.(I) R=377+1/10, (Il) R =500

6. GivenMpuyLwhenM=6andL =2.
(i) find L, the relationship between M and L
(ii) The value of L when M = 15.

A ()M=2L, (iIlM=4
B.()M=4L, (ilM=6
C.(i)M=3L, (iilM=5
D. (i) M=5L, (iilM=7
E.()M=2L, (i) M=7

7. A car travels 72km on 9 litres of petrol. How far will it travel on 15 litres?
A.140km

B. 144km

C. 49.9km

D. 120km

E. 14km
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8.Given X Y/,wheny=7,Z=3, and X = 42.

(i) Find the relationship between X,y and Z,
(i) find Xwheny =5 and Z = 9.

A. (i) X=18z2/3, (ii) X =12
B. (i) X =18y/z, (ii) X=10
C. (i) X=18z/y, (ii) X =14
D. (i) X =16y/z, (ii) X =16
E. (i) X =18yz, (ii) X=10

9. 2 bags of salt cost 86 and 10 bags of salt cost 820, find the cost of 12 bags of salts.
A N72

B. N36
C.N4

D. 863
E. N27

10. Solve the equation 4%8 =52

A.260/23
B. 520/52
C.23/26
D.26/23
E. 23/260

11. A motorist travels 60km between two villages.
(a) Make a table showing the speed of the journey if it takes 1h, 2h, 4h.
(b) Is the speed directly or indirectly proportional to the time taken?

(c) If the cyclist travels at 20km per hour, find how long the journey takes.
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Time (h) 1 12 |4
Speed (km/h 60 |30 | 15
Directly proportional,
7 hours
B.  Time(h 1 ]2 [4
Speed (km/h 60 |30 | 15
Indirectly proportional,
3 hours
C.  Time(h) 1 ]2 [4
Speed (km/h 60 |30 | 15
Directly proportional,
6hours
D. Time (h) 1 12 |4
Speed (km/h 60 |30 | 15
Directly proportional,
3hours
E. Time (h) 1 (2 |4
Speed (km/h 60 |30 | 15

Indirectly proportional,

6 hours

12. Find the reciprocal of 180.

A.0.0055
B. 0.0145
C.0.45

D. 0.0505
E. 0.055
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13.1fa /b and a=2 when b =3/ find awhen b =3/5..A. 3
B.4
C.5
D.6
E.8

14. A length of a storage can can be cut into 12 pieces of length 30cm. How many pieces
each 20cm long can be cut from the storage can?

A. 16 pieces
B. 9 pieces
C. 50 pieces
D. 18 pieces

E. 8 pieces

15. Given X '/, when X = 9 and y = 4. Find the formula that connects X and y.
A.y/36

B.5/y

C.225/y

D. 36/y

E. 36y

16. P is directly proportional to Q, P = 7 when Q = 35, what is the relationship between P and
Q?

A P=7Q

B.P =350
C.P=1/7Q
D.P=1/5Q
E.P=1/50

Page 24 of 266 Author: www.teststreams.com



Mathematics Exam Questions and Answers Pack

17. A book with 3, 000 pages weighs 15kg. What is the weight of a similar book with 600
pages?

A. 1kg
B. 3kg
C. 5kg
D. 7kg
E. 9kg

18. Solve the following simultaneous equations:
S5v=11+3u
2u+7v=_3.

Av=-Tandu=-2
B.v=Tandu=-2
C.v=tlandu=2
D.v=2andu=-3
E.v=1Tandu=-b6

19. A motorcycle uses 5 liters of petrol for a journey of 30km. How many litres will it use for a
distance of 174km?

A. 27 liters
B. 28 liters
C. 29 liters
D. 30 liters
E. 26 liters

20.Ifa /b and a=2 when b =3/ find a when b = /4.
A. b

B.6
C.7
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D.8
E.9

21. Four cartons of milk cost 840 and seven cartons of milk cost ¥70.

(a) Does the cost of milk vary directly or inversely with the number of cartons?

(b) Find the cost of 20 cartons of milk.

A. Directly: 200
B. Directly: 8150
C. Inversely: 880
D. Inversely: 8120
E. Directly: 8100

22. What is the reciprocal of 0.025?
A. 400

B. 40
C. 4
D.04
E.0.04

23. A car travels 42km on 6 liters of petrol. How far will it travel with 12 liters?
A. 84km

B. 80km
C. 21km
D. 72km

E. 48km
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TOPIC: EVERYDAY ARITHMETIC

DIRECTION: Choose the correct answer from the lettered options.

1. Find the compound interest $120 for 2 year at 5% per annum.
A. $6

B. $6.3
C.$10
D. $9

E. $12.3

2. Find the compound interest 850, 00O, for 3 years at 8% per annum.
A.N12,985.00

B. N¥12, 985.60
C.N12,985.40
D. N12, 985.20
E. 812, 958.60

3. Find the amount that 87,000 becomes if saved for 2years at 5% per annum compound
interest.

A. N 350
B.N367.5
C.N7,7175
D. N 7350
E.N777.5

4. Find the amount that ¥20, 000 becomes if saved for 3 years at 10% per annum
compound interest.

A. X 2000
B. ¥ 24, 200
C.N26,620
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D. & 22,000
E. 826, 260

5. The population of a city increases by 3% each year. Three years ago the population was
445,000. What is the population now?

A.472,100.5
B. 14, 163.015
C.13,750 5
D.515.0

E. 486,264

6. Solve the inequality - X > -3.
A X<3

B.O<-X<-3

C.-3<X>0

D.X>3

E.-3<3X<3

7. Mr. Bon borrows ®185, 000 at 6% compound interest. He pays back N¥45, 000 at the end
of each year. How much does he still owe after he has made his third payment?

A.¥151,100
B. N115, 166
C.N122,076
D.N77,076
E.N77,706

8. A trader makes a gain of 5% when he sells a car for 8336, O0O. If he sells it for 8307, 200,
what is his gain or loss percent?

A. 4% loss
B. 4% gain
C.6% loss
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D. 6% gain
E. 5% loss

9. How much does a goat cost if a cow costs seven times as much as a goat. For %84, 000, |
can buy 18 more goats than cows.

A. Goat = 4, 000, cow = 28, 000
B. Goat = 4, 400, cow = 28, 800
C. Goat =4, 700, cow = 28, 700
D. Goat = 4, 050, cow = 28, 050
E. Goat = 4, 500, cow = 28, 500

10. Find the compound interest 340, 00O for 2 years at 6% per annum.
A. N4, 950

B. N4, 944
C.N4,775
D. N4, 650
E. N4, 494

11. The present cost of a chair and table is }4,800. If the rate of inflation for the next two

years are 25% and 15% respectively. Find the cost of buying the same kind of chair and table
in 2 year’s time.

A. N 6,900
B. 900
C.N¥1,200
D. 84,800
E. N9 690

12. Convert 4 days 10 hours to hours.

A. 86
B. 96
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C.100
D. 106
E. 108

13. Mr Sado spent 30% of his salary on rentage, 20% on food, 10% on children school fees

and the remainder on entertainment. If his entertainment and school fees cost 600,000,
what is his salary?

A. 1,200,000
B. ¥1,000,000
C. 82,000,000
D. 82,400,000
E. ¥1,600,000

14. If Ibiba saves $650 at 4% compound interest and adds $150 to the amount at the end of
each year. What is the total savings after 4 years?

A. $826

B. $247.38

C. $1397.38

D. $47.976064
E. 86,100

15. Boma saves 85000 at 41/2% compound interest. She adds 8800 to her amount at the
end of each year. Find her total savings after 2 years.

A. N6, 025
B. X800
C.N271125
D. 7,100
E. 86,100
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16. Two traders, Peter and John each started with the same number of apples. Peter found
that 2 of his apples were bad and sold the rest for a total of ¥700. John found that 11 of his
apples were bad; he sold the rest for N60O. If their average selling prices per mango were
the same, how many apples did each have to start with?

A. 67
B. 69
c.n
D. 65
E. 55
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TOPIC: FACTORISATION

DIRECTION: Choose the correct answer from the lettered options.

1. Factorise the following (2x - 5y)? + by - 2x.
A (2x - By) (2x - by - 1)

B. (2x - By) (2x - by - 2)

C.(2x-by) (2x-y - D)

D.(x-9y) (2x-by - 1)

E. (2x - by) (2x- by + 1)

—-Q
2. Evaluate e =-7
A5 -

B.-5
C.-9
D.14

E.-14

3. Factorise the following quadratic expression: b? - 49.

A(b-7)(b-7)
B. (b -1) (b -49)
C.(b+7)(b-7)
D.(b+1)(b+7)
E.(b-1)(b+7)

4. Simplify x -y +x -y +x-y.
A 3(x+y)
B.3(y-vy)
C.3(x-vy)
D.2x + 2y
E. 2x - 3y
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5.1f ABis 2/3 PQ, and AB = 4, find PQ.
A4
B.12
C.6
D.8
E.10

6. Simplify by factorizing 13 * 60 - 49 " 13.
A.134

B. 143

C.205

D.107

E. 179

7. Simplify x°.
A.O

B.1

C.-1

D.2

E.-2

8. Factorise (3a - 4b) (b + c) - 3a + 4b.
A. (3a + 4b)(b + c +1)

B. (4b - 3a)(b + c +1)
C.(3a-4b)(b+c-1)

D.(2a + 5b)(b - ¢ +1)

E.- (3a+4b)(b +c +1)
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9. Factorise the expression R?- r? hence find the value of the expression when =
2/;,,R=10andr = 4.

A. 246
B. 264
C. 327
D. 144
E. 302

10. Factorise 16b?- 1.
A. (16b + 1)(b - 1)
B. (4b + 1)(4b - 1)
C.(4b-1)(4b - 1)
D.(2b-1)(8b + 1)
E.(2b-1)(8b-1)

11. Factorise the following by grouping in pairs: Xp + 3yp + 3yq + Xq.
A (By-X)(q+p)

B.(X+3y) (p+aq)

C.(X+5y)(3p+q)

D.(r+3y) (p-q)

E.(3X+y) (p+2q)

12. Factorise the following quadratic expression: r2 + 2r - 15.
A (r+5)(r-3)

B.(r-5)(r+3)

C.(r-5)(r-3)

D. (r+1) (r-9)

E.(r+1)(r+5H)
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13. Factorise p (2x - 7y) - 3k (2x - 7y).
A. (x - 14y) (2p - 2k)

B. (2x - 7y) (p - 3k)

C.(2x-7y) (p - 2k)

D. (4x2 - 49y) (p - 3k)

E. (2x - 7y) (p + 3k)

14. Solve the quadratic equation g - 10g + 21=0.
A.g=-3andqgq=7

B.g=-3and gq=-7

C.g=4andqg=-7

D.g=3andqg=7

E.g=4andq=7

15. Find the HCF of 18, 24 and 42.
A 2
B.6
C.8
D. 12
E. 16

16. Factorise the expression R2?- r. Hence find the value of the expression when =
2/, R=7andr=7.

A. 116
B. 132
C. 148
D. 164
E. 146
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17. Simplify (+5) - (+3).
A. -2
B. +2
C.-8
D. +8
E.-4

18. Simplify 22/,
A. %%/ oy
B. ¥/ 3y
C.%/3y
D.%/3y

E. 2X/5y

19. Multiply 3.07 by 100,000.
A.3.07 x 10

B. 3.7 x 10*

C.3.07 x 10°

D. 3.07 x 104

E.3.0 x 10

20. Simplify (-5) x (O).
A.O

B.5

C.-5

D. 10

E.6
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21. Solve the equation X? + 14X = -49.
A X=-7,X=-7

B.X=14,X=-7

C.X=7,X=-14

D.X=7,X=-4

E.X=7X=7

22. Simplify (7X - 2y) - (6X - 4y).
A. X - By

B. 13X + By

C.X+2y

D. 13X + 2y

E.y-3X

23. Expand the equation (p + q) (r + s).
A.pg+ps+qr+gs
B.pr+ps+qp+gs
C.pr+ps+qgr+gs

D.pr+qgr+rs+sp

E.pr-ps-qgr-gs

24. Factorise the following by grouping in pairs: bX + by + 4aX + 4ay.
A. (X-y) (b +4a)

B. (83X +y) (-b + 4a)

C.(b-4a)(X-y)

D. (X + 2y) (a - 4b)

E. (X+y) (b + 4a)
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25. Solve the quadratic equation g - 17q + 70 = O.
A.q=-10,q=-7

B.q=7,9=10

C.g=-3,qg=-4

D.g=-3,q=4

E.q=7,9=-10

26. Factorise 9xy and 24ab.
A.6
B.O
C.2
D.3
E.4

27. Factorise the following by grouping in pairs: 4m -1+ 12m? - 3m.
A (4m +1)(1-3m)

B.(4m-1) (3+m)

C.(m-4)(1-3m)

D.(4m-1) (1+ 3m)

E.(2m-1) (1+3m)

28. Factorise completely 2y? - 18.
A.2(y +3) (y - 6)
B.2(y +3) (y - 3)
C.2(y-3)(y-3)
D.2(y +6) (y - 3)
E.2(y +3) (y+3)
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29. Factorise X? - 7X + 12,
A (X-3)(X-4)
B. (X+3) (X-4)
C.(X-3) (X+4)
D.(X+3)(X+4)
E.(X+3)(X-3)

30. Factorise the following quadratic expression: 16a2 - 25b?
A. (4a + bb) (4a + bb)
B. (4a - bb) (4a - bb)
C. (4a + bb) (4a - bb)
D. (8a + 5b) (8a + 5b)
E. (4a - bb) (4a + bb)

31. Factorise b? (5b - 3a) - 3b®.
A.ab(2 - 3)

B.b (2b - 3a)

C.b* (2 - 3a)

D. b? (2b - 3a)

E. b?(2b + 3a)

32. Simplify 3a + 2(a + 2b).
A.5a + 3ab + 4b

B.5a - 3ab - 4b
C.ba+4b

D.%a-4b

E.4a +bb

Page 39 of 266 Author: www.teststreams.com



Mathematics Exam Questions and Answers Pack

33. Factorise the following quadratic expression: (r?s? - t2).
A (rs+t) (rs-t)
B.(rt-1) (rs-1)
C.(rs-t)(rs-t)
D.(rt+1t) (rs + 1)

E.(rs+1) (rt+5s)

34. Factorise 3a +1- 3ab - b by grouping.
A (a+3)(1-b)
B.(3a+1)(1-b)
C.(3a+1)(b-1)
D.(a-b)(3+1)
E.(3a+1)(1+Db)

35. Factorise (4u - 3v) (5m - 4n) - (4u - 3v) (3m + 2n).
A. (4u - 3v) (2m - 2n)

B. (4u - 3v) (2v - 4u)

C.(4u - 3v) (Bm-2m)

D. (4u - 3v) (2m - 6n)

E. (4u + 3v) (2m + 6n)

36. Factorise the following quadratic expressions: x* + 13x + 22.
A (x-2)(x-11)

B.(x-2) (x+11)

C.(x+2)(x+11)

D.(2x+2) (x+11)

E.(x+2)(x-1)
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37. Expand (x - 4)2.
A x2+8x-16
B.x?-8x-16
C.x2-8x+16
D.x?+8x + 16
E.x?-16x + 16

38. Simplify (-2) (1'/2).
A -1

B.-2

C.-3

D.2

E.3

39. Simplify Vs + /3 +1/3+ /s
A 1/;

B."/2

C.4Y,

D.3/4

E.13/4

40. Simplify 22 5° 3.
A 6

B.8

C.10

D. 12

E. 14
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41. State the additive inverse of -31.
A 31

B.O

C.-31
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TOPIC: FORMULAE: SUBSTITUTION, CHANGE OF SUBJECT

DIRECTION: Choose the correct answer from the lettered options.

1. The angle of elevation of the top of a building is 35° from a point 70m away on level
ground. Calculate the height of the building. Tan 35° = 0.7002. Correct to 2 significant figure.

A.49m
B.70m
C.490m
D. 49m
E. 49cm

2. Make n the subject of the equation ™/, =P/,
A.™/,
B.™P/q
C.PYm
D. 9/ om

E.P™/q

3. Solve the equation 2~ 3/2= 6.
A. 12

B.17

C.-15

D.-12

E.15

4. Solve for p if 3/5p+1 = 1/3|o-4.
A.33/4

B.43/4
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C.34
D.4/4

E.4/9

5. Make v the subject of the formula, given S = 1/ovt2,
A V=22

B.V =/5st?

C.V=2s%/;

D.V = 2st?

E.V=2/2

B8.Given A= /o X(Y + L), express L in terms of A, Xand Y.
A2/x-A
B. %/a-Y
C.2/x-Y
D.%/on - Y

E.A/x -2Y

7. Make Cos B the subject of the formula from the equation b? = a? + ¢? - 2ac Cos B
and hence, find Bin °when a=5cm, C = 3cm and b = 4cm.

A. Cos B =32*¢2b2/, . 53130
B.Cos B =2327°2b2/,, . 53.17°
C.Cos B =232°12/,,.2 50.13°
D. Cos B = 8220 /,1,2, 49130

E.Cos B =2"¢2P2/,.2 53130
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8. The curved surface area A of a cone of height h and base radius ris r [h? +r2].

Make h the subject of the formula and find the height of a cone of area 550cm? and
base radius 7cm, taking to be 22/5.

A 2
(7xr)

9. A table costs five times as much as a chair. For 820, OO0 a trader can buy 20 more chairs
than table. Find the cost of a chair.

A.N280
B. N800
C.N28

D. 82100
E. N210

10. Make K the subject of the equation D = /3 MK2.

A K2 =3D/y
B.K=M/3p
C.K=3DM

D.K= M/3p
EK= 30/y
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11. Make n the subject of the equation ™/n = P/,

An="P/q
B.n="/pq
C.n=P/mq
D.n="m9/
E.n=PYn

12. Make t the subject of the formula, given V = u + at?

A u+ati-u
B. U=/,

CxWw-ul/,
D.V"Y/4

E.V-Y/ .

13. Simplify a’-b’ a+b

Ala+b
B. a? - b?
C.a’+b
D.a-b
E.a>-b

14. Solve the equation 4s=55+1/1.35-5/
A3

B. -33/c

C. 2%,
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D. —2%3
E. —%5

15. Make X the subject of formula if V =*"/x.
A V/Rry
B."/vr
C.R/w
D. "R/y

E. VY/R

16. Make r the subject of the formula Vv ='/5 r2h.

A [3V/mn]
B.'/3 h
c.® Vh
D.(°Y/ 1)

E. [°/vn]

17. The wage, a dollar for a person who works b hours of overtime is given by the formula a =
100b + 6900. Make b the subject of this formula and hence find the number of hours of
overtime worked by someone whose total wage is $9400.

A. 250 hours

B. 25 hours

C. 2 hours 5 minutes
D. 2500 hours

E. 2 hours 12 minutes
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iy, — B,

18. P= make v the subject. IfFP=3. m2=30.m¢.=3.find Vv in cm?

v
A.3.3cm?®

B. 5cm?®
C.3cm?
D.9cm?®

E. 6cm?®

19. Solve for b if /7 ="/ - 3.
A7

B.3

C.-10

D.-3

E. 10

20. A man is 5 years older than his wife. Four years ago the ratio of their ages was 7:6. Find
the man's present age.

A -29
B.-53
C.29
D. 34
E. 24

21. Find the value of y® -y, if y = -2.
A5

B.-6

C.20

D.8

E.6
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TOPIC: GENERAL ARITHMETIC

DIRECTION: Choose the correct answer from the lettered options.

1. Write down the prime numbers between 1 and 10.
A.2,3,5and 7

B.1,3,4,5and 9

C.2,3,56,7and 9

D.2,4,6,and 8

E.1,3,5and 7

2. Obi, Kunle and Tom share some money. Obi gets %1 of the money. Kunle gets %2 of the

remainder. What fraction of the money does Tom get?
4

A Y

B- 29

5
C. Y

2
D. 33

E. 52

3. Translate the code below: (13,1,20,8,5,13,1,20,9,3,19).

A |B |C [D [E |F G [H [I J K J|L M N |JO|P
1 (2 |3 |4 [5 [6 7 (8 [9 [10 11 (1213 14 |15 |16
Q [R |S |T |U [V W |X |Y [|Z
17 118 119 120 {21 [22 23 |24 [25 |26

A. MATHEMATICS
B. MARKERS

C. MACHINE

D. MATTERS

E. NIGERIA
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4. There are 180 boys in a mixed school. If the ratio of boys to girls is 3:4, what is the total
number of students?

A. 420
B. 520
C.620
D. 720
E. 360

5.1f 26 - X = X is a true sentence, the value of X is
A 8

B. 16

C.13

D. 1

E.10

6. What is a prime number?

A. A prime number is a number that can only be divided by itself

B. A prime number is a number that is a multiple of itself

C. A prime number is a number that has only two factors, itself and 1

D. A prime number is a number that can only be divided by 2 with remainder

E. A prime number is a number that can only be divided by 2

. i l%xl%
7. Simplify T

A Y
B. %
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8. Simplify - 3 - 8 + 5.
A. -6

B. -1

C.-2

D.O

E.6

9. Find 80% of N6.48.
A.N4.77

B. N6.86

C.N259

D.N7.19

E.N5.18

10. Find the HCF of 18, 24, 42 and 72.
A8
B.7
C.4
D.6
E.2

11. In an examination, 154 out of 175 candidates passed. Find the percentage that failed.

A 12%
B. 34%
C.19%
D. 6%

E. 24%
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12. A car travels 72km on 9 liters of petrol. How far will it travel on 13 liters?

A. 8km

B. 50km
C. 85km
D. 104km
E. 117km

13. Translate the code below: (20,8,5) (5,24,5,3,21,20,9,22,5) (7,15,22,5,18,14,15,18).

A |B |C |D[E |F G |H |I [J KL |[M N [O]|P

1 12 |3 |4 [5 |6 7 |8 |9 [10 11 |12 [13 14 [15 |16

Q |[R |S |T (U |¥Y W |X |¥Y [Z

17 [18 119 | 20 (21 [22 23 |24 |25 |26

A. THE EXECUTIVE PLONENTS

B. THE EXECUTIVE PRESIDENT

C. THE EXECUTIVE GOVERNOR

D. THE EXCELLENCY

E. EXTINGUISHERS

14. Translate the code below: (9) (1, 13) (1) (19, 20, 21, 4, 5, 14, 20).

A |B |C |DI[E |F G |H |I [J K J|L |[M N [O]|P

1 12 |3 |4 [5 |6 7 |8 |9 [10 11 |12 [13 14 [15 |16
Y

Q [R |S |T |U [V W |X zZ
17 118 119 120 {21 [22 23 |24 [25 |26

A.l AM A SCHOLAR
B.1AM A STUDENT
C.AM A SOLDIER

D. | AM SYSTEM ANALYST
E. I SOLDIER

15. Express the following in meters 13.7km.

A.13,700m
B. 1,000m
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C. 180km
D. 1,3700km
E.137m

16. Interpret the graph below to an inequality expression.
T I T T T & l ; l : )X
3 =2 101 23 45 6

A X<2
B.X>2
C.X<2
D.X>2
E.X=-2

17. Translate the code below: (14,15,20,8,9,14,7) (9,19) (16,5,18,13,1,14,5,14,20).

A B C D E F G H | J K L MM 8] P
1 2 3 4 5 B 7 (=) 9 10 11 [12 [ 13 14 [15 [ 16
Q R S T u YoooWw X Y Z
17 118 |19 |20 |21 |22 23 |24 |25 |26

A. PERMANENT IS NOTHING
B. NO WAY OUT

C. NOTHING IS IMPOSSIBLE
D. NOTHING IS PERMANENT
E. NONE OF THE ABOVE

18. Reduce the following fractions to their lowest terms: 12%76

8
A 1

15
6
C. N1

19

E.%

Page 53 of 266 Author: www.teststreams.com



Mathematics Exam Questions and Answers Pack

19. Translate the code below: (6,5,4,5,18,1,12) (7,15,22,5,18,14,13,5,14,20) (15,6) (14,9,7,5,18,9,1).

A |B |C [D |E |F G |H ]I J K |JL [M N |JO [P
1 12 |3 [4 |5 |6 7 8 |9 [10 11 12 (13 14 |15 |16
Q@ [R |S |T U [V W |X |Y [|Z
17 118 119 120 {21 [22 23 |24 {25 |26

A. FEDERAL GAMES RESERVE

B. FEDERAL GOVERNMENT GIRLS SCHOOL
C. FEDERAL CAPITAL TERRITORY

D. FEDERAL GOVERNMENT OF NIGERIA

E. NONE OF THE ABOVE

20. Expressbinterms of Aandh

A bh

o
2

hcm

A A/
B."/oa
C. A/ h

D."/2bh
E. bh

21. Find the LCM of the following: 7, 8 and 9.
A. 315

B. 605

C. 400

D. 504

E. 250

Page 54 of 266 Author: www.teststreams.com



Mathematics Exam Questions and Answers Pack

22. Suppose today is Thursday. What day of the week will it be after 50 days?
A. Monday

B. Saturday

C. Wednesday
D. Thursday

E. Friday

23. The sum of two numbers is 12 and their difference is - 2. What are the numbers?
A.5and 7

B.1and 1
C.2and 4
D.5and 9
E.3and 6

24. Translate the code below: (16,15,18,20) (8,1,18,3,15,21,18,20) (3,9,20,25).

A |B |C [D|E |F G |H J K |JL [M N |JO [P

I
1 12 |3 |4 [56 [6B 7 (8 [9 [10 11 [12]13 14 |15 |16
Q@ [R |S |T U [V W |X |Y [|Z

17 118 119 120 {21 [22 23 |24 {25 |26

A. PATH WAY

B. PART PAYMENT

C. PORKABIN

D. PORT HARCOURT CITY
E. PARKER AVENUE

25. Express 72 as products of prime factors.

A2 2 3 3 3
B2 2 2 3 3
c2 2 2 9
D.2 2 2 3 7
E2 3 3 5
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26. Translate the code below: (10,21,14,9,15,18) (19,5,3,15,14,4,1,18,25) (19,3,8,15,15,12).

A |B |C [D|E |F G |H J K |L

i

N

0o |P

13

14

15 [ 16

I
T E2 1S P IBE 16 7 18 |9 10 TEEM2
Q@ [R |S |T U [V W |X |Y [|Z

17 118 119 120 {21 [22 23 |24 {25 |26

A. JUNIOR SECONDARY SUBJECTS

B. JUNIOR SECONDARY CURRICULUM
C. JUNIOR SECONDARY TRAINING

D. JUNIOR SECONDARY APPROACH
E. JUNIOR SECONDARY SCHOOL

27. Add the following and give the answer in kg: 681g, 562g and 2.321kg.

A. 12.8kg

B. 1.057kg
C. 3564kg
D. 4.801kg
E. 2.872kg

28. Translate the code below: (13,25) (14,1,13,5) (9,19) (16,5,20,5,18).

A. MY NAME IS PETER

B. MY NOSE IS TOO BIG

C. MY NAME IS VERY SPECIAL

D. MY NIKE SHOES GOT MISSING TODAY
E. MY NECKLACE IS EXPENSIVE

29. Express 3/4 as a percentage.

A. 46%
B. 56%
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C.75%
D. 76%
E. 86%

30. What is LCM?

A. Least Common Multiple

B. Local Control Mathematics
C. Lowest Common Multiple
D. Low Common Multiple

E. Least Control Million

31. Harry buys 5 liters can of gear oil and used 800ml. What percentage of the oil is
remaining?

A.15%
B. 84%
C.98%
D. 66%
E. 35%

32. Express this fraction as percentage: 9/25.
A.50%

B. 28%

C.177%

D. 36%

E. 18%

33. What number does the Roman numeral - CCXC represent?
A. 190

B. 180
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C. 220
D. 290
E. 390

34. Add the following and give the answer in Naira 95k, 83k, 27k.
A.N3.25
B.N3.10
C.N2.05
D.N4.05
E.N2.45

35. Find the value of the sum of 28° 22" and 42°37'.
A.14° 09
B. 70° 53'
C.70° 43
D. 68° 35'
E. 70° 33'

36. How many weeks are there in 504 hours?
A. 24 weeks
B. 21 weeks
C. 11 weeks
D. 8 weeks

E. 3 weeks

37. Simplify the following: 53/4 - 27/s+ 1'/2.
A1/4
B.5%/9
C.3%7
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D.43/s
E. 22/3

38. How many second are there in 21 hours 54 minute?
A. 78,250 seconds
B. 68,840 seconds
C. 58,740 seconds
D. 78,840 seconds
E. 98,540 seconds

39. Find the HCF of the following 126, 234 and 90?
A.18

B. 68

C.90

D.16

E.3

40. Add the following and give the answer in Naira ¥9.50, ¥18.75, and &3.50.
A.N27.00

B.N31.75

C.N14.00

D.N24.98

E. ¥18.90

41. Express 0.004076 to 2 significant figures.
A. 0.00408

B. 0.0042

C. 0.0041

D.0.004

E. 0.0040
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42. Suppose today is Thursday. What day of the week will it be after 20 days.
A. Monday

B. Tuesday

C. Wednesday

D. Thursday

E. Friday

43. A boy had below ¥700. His father borrowed 3200 from him. He is therefore now left with
Ny. Write an equation fory.

A Ny>N500
B. Ny = 8500
C.NY>N700
D. Ny < N¥500
E.Ny <N 700

44. Give six multiples of the number 6.
A. 6,12, 26, 34, 42

B. 12, 18, 24, 30, 36, 42

C. 6,15, 24, 30, 37, 48

D. 18, 24, 35, 36, 46, 54

E. 12,16, 20, 36, 46, 52

45. The HCF of 42 and 70is ______ .
A9

B.13

C.7

D.10

E.14

Page 60 of 266 Author: www.teststreams.com



Mathematics Exam Questions and Answers Pack

46. The average age of 4 boys is 12. If three of them are 11, 15 and 14 years old, how old is the
fourth boy?

A9
B.8
C.5
D.2
E.13
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TOPIC: GEOMETRY AND MENSURATION

DIRECTION: Choose the correct answer from the lettered options.

1. The area of a circle is given as

A2r

2. Determine the diameter of a circle if its circumference is 44cm?

A.20cm
B. 15cm
C.10cm
D. 14cm
E. 33cm

3. Findtinthe diagram

A. 41°

B. 30°
C.90°
D.103°
E. 120°
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4. Calculate the width of a room of area 112m? and length 14m.

A.8m
B.7m
C.9m
D.6m
E. 4m

5. A triangle which has all its sides equal is called

A. a scalene triangle

B. an acute triangle

C. an obtuse triangle

D. an equilateral triangle

E. an isosceles triangle

6. The sum of the interior of a polygon is 1,0800. How many sides has the polygon?
A5

B.8
C.6
D.7
E.O

7. Find C in the diagram

A.52°
B. 38°
C.128°
D. 308°
E. 83°
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8. Express 6km in meters.
A. 6000 m

B.600 m

C.0.06 m

D.60 m

E. 60,000 m

9. A cone has a volume of 120m?® with a height of 12m. Calculate the slant height of the cone.

A 1327 m
B.12.37 m
C. 1723 m
D. 2137 m
E. 1273 m

10. A line which divides a circle into two equal halves is called a

A. chord

B. center
C. diameter
D. circumference

E. radius

11. 1 hectogramme =7
A.1000g

B. 100g

C.10g

D.1g

E.O.1g
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12.

Find v

A.33°
B. 53°
C.74°
D. 106°
E. 29°

13. The sum of in a triangle is

A.60°
B. 180°
C. 360°
D. 90°
E. 190°

14. An angle which is greater than 90° but less than 180¢° is called

A. a reflex

B. an obtuse
C. an acute
D. a right

E. a revolution

15. The curved area of a cone is

A rlL
B. rL
c.2 rL?
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D.2 r2L
E.2 rL?

16. What is the sum of the interior angle of a regular polygon with n sides?

A.(270n - 360)°
B. (180n - 540)°
C.(90n - 360)°
D.90 (2n-5)°
E. (180n - 360)°

17 From the figure dravwn find a

N
D A

\ 630
/ S
D

35°

C

A. 98°
B. 28°
C. 82°
D. 27°
E.72°

18. From the diagram find the value of X

3X
3X

A. 47
B. 40
C.50
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D. 60
E.75

19. A woman fences a 3m by 4m rectangular plot to keep her goats in. The fencing cost ¥110

per meter. How much does it cost to fence the plot?

A.N1,540
B. ¥1,880
C.N1140
D. 82,570
E. 83,650

20. Findthe angles marked a,b and ¢

74

a b

[z}

A. 47°,63° 107 °
B. 53°,563°,127°
C. 38°, 38¢°,142°
D. 65°, 65° 115°
E. 76°, 76°,104°

21. Find ain the diagram helow

N
A
a0
A. 30°
B. 40°
C.b0Or
D. 60°

E.70°
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TOPIC: NUMBER BASE

DIRECTION: Choose the correct answer from the lettered options.

1. Add 1013, 1012 + 1112
A. 10001,

B. 10100,

C. MO0,

D. 11110,

E. 11101,

2. Convert 1270 to base 8.
A.177;

B.178s

C. 1765

D.167s

E. 1175

3. Subtract 1213, from 22311..
A. 210304

B. 20132,

C. 21032,

D. 211324

E. 21102,

4. Convert 30 to base 5.
A. 1015

B. 1115

C. O11s
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D. 110s
E. OO1s

5. Convert 11223 to base 10.
A 42

B. 440

C. 43

D. 45,0

E. 41

6. Convert 134670 to base 7.
A. 5505;

B. 541565

C. 5415,

D. 54175,

E. 54165,

7. Convert 617;to base 10.
A. 30710
B. 30610
C. 305
D. 304
E. 30810

8. Multiply 11001; by 110..
A. 110010112

B. 10010110,

C. 100010112

D. 10101011,

E. 10011100,
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9. Add 1011; and 1101, together.
A. 10000,

B. 11100,

C. 11000,

D. 10001,

E. 10100,

10. Change 11225 to base 10.
A. 4040
B. 3810
C. 42
D. 4810
E. 44,0

11. Convert 200+ to base 8.
A 111

B.101s

C. 3105

D. 1125

E. 3115

12. Convert 11000110, to base 10.
A. 20010

B. 19810

C. 197

D. 1961

E. 1951
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13. Convert 971 to base 5.
A. 3425
B. 2345
C. 2425
D. 3415
E. 2435

14. Subtract 10101, from 10111..
A. 10,

B. 11,

C. 101,

D. 100,

E. 12,

15. Subtract 101, from 1110..
A. 101,

B. 1110,

C. 1001,

D. 1101,

E. 10010,

16. Calculate 3310s - 14425.
A. 13135

B. 21315

C. 43025

D. 1103s

E. 31315
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17. Subtract 1001, from 1110,.
A. 110,

B. 111,

C. 101,

D. 010,

E. 102,

18. Find the value of (101,)3.
A. 1100101,

B. 1111101,

C. MMMoO,

D. 1111001,

E. 1M1111,

19. Find the square root of 100100..
A. 110,

B. 101,

C. 011,

D. 001,

E. 111,

20. Change 128y to base 6.
A. 3236

B. 2336

C. 3206

D. 3326

E. 3216
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TOPIC: PROBABILITY

DIRECTION: Choose the correct answer from the lettered options.

brokeneggs | 0 | 1 (2 |3 | 4|5 | 6

number of 12| 7 3 21110 0
boxes

What is the probability that a box chosen at random
has less than two broken eggs in it?

A. 22/25
B. 19/25
C. 12/25

D. 7/25

2. A man has three white shirts, two blue shirts and five red shirts. He picks one at random.
What is the that it is white?

A. 3710
B.1/5
C. 172
D.3/9

3. In a company of 300 workers, one worker is selected at random to represent the company
in an exhibition. If there are 40 workers in the marketing department, what is the worker
chosen will be a marketer?

A.2/15
B.1/3

C. 4/300
D.15/2
E.2/7
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4. 28.8m of cloth cost ¥5, 328. Find the cost of 1m of cloth.
A.N180
B. N¥185
C.N190
D. N195
E.N175

5. A number is chosen at random from the set of numbers 41, 42.. 55, 56. What is the number
that it is a multiple of 9?

A
B. Y,
c ¥,
D. ¥

6. Ibifuro has three friends, one fair, one dark and the other fat. If he goes out with one of
them at random, what is that he went out with the fat one?

A/
B."/3
c.'/
D.3/1

E.3/>

7. A box contains 3 red balls and 7 blue balls. If a ball is selected at random, what is the
probability of selecting either red or blue balls?

A1l

B. 7/10

c.3/7
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D.2/100

E.O

8. A number is chosen at random from the set of numbers 41, 42, ..., 55, 56. What is the
probability that it is a prime number?

A. 1/8
B. 1/16
c. /a4

D.3/16

9. A fair six-sided die is thrown. Find the possibility of getting an even number.
A 2/3

B.'/>

c./e

D./3

10. A fair six-sided die is thrown. Find the probability of getting a 3.
A/

B. 1/3

€A

D. 1/6
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TOPIC: SIMPLE AND COMPOUND INTEREST

DIRECTION: Choose the correct answer from the lettered options.

1. Find the amount that 810, OO0 will be if saved for 3 years at 7% per annum.
A.N10, 700.43k

B. ¥12, 250.43k
C. N11, 449.43k
D. N13, 234.34k
E. 810, 250.43k

2. Find the simple interest on &1, 600 for 3'/, years at 6% per annum.
A. N672

B. N356
C.N336
D. N636
E. X663

3. Find the simple interest on N1, 000 for 4%/, years and 9°/3% per annum.
A . R174.72

B.Nb524.17
C.N1,048.33
D. ¥10.28

E. N147.27

4. Find the simple interest on ¥29,275 for 2 yrs at 6%.
A.N3510.84

B. N3153
C.N3513
D. 83150.84
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5. Find the compound interest on 36,000 for 2 years at 8% per annum.

A.N998.40
B. ¥989.04
C.N899.40
D. 8480.40
E. ¥994.80

6. A man borrows N1, 000,000 to buy a car at 9% per annum compound interest. He repays
N95,000 at the end of each year. How much does he still owe at the end of 3 years?

A.N083,998.8
B. ¥983,609.5
C.N793,609.5
D.N885,677.5

E. ¥950,009.0

7. How long will it take for prices to double if the rate of inflation is 30% per annum?
A. 256

B.276.2
C. 2226
D. 219.7
E. 231

8. Calculate the simple interest on 8600 for 2 years at 4% per annum.
A.N48

B. ¥4,800
C. N408
D.N¥12.25
E. N480
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9. Find the amount that 5,000 becomes if saved for 3 years at 6% per annum compound
interest.

A.N5,345.05
B. ¥8,950.57
C. N5,955.08
D. 85,065.10
E. 8¥6,055.08

10. Find the amount of 834,320 in 5 years at 6 '/4% per annum.
A. N45000

B. N¥45045
C. 850445
D. 850000
E. N70435

11. Find the compound on 840,000 for 2 yrs. at 8% per annum.
A.N3,200

B. N6,656
C. N46,656
D. 83,456

12. A woman borrowed ¥75,000 at 8% per annum compound interest. At the end of the first

year she pays back ¥31,000. At the end of the second year she repays ¥30,000. At the end
of the third year she clears her debt completely. What is her final payment?

A.N6,000

B. 850,000
C.N54,000
D. 824,000
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13. Find the sum to which ¥14,300 amounts in 2 years at 5/2:% per annum compound
interest.

A.¥19,356.50
B. 25, 90.26
C.N17,910.26
D. ¥14,300.26
E. ¥15,916.26

14. A house costing 8800,000 depreciated by 35% in its first year and 30% in its second
year. Find its value after 2 years.

A.N464,000
B. ¥389,000
C. N595,000
D. 8364,000
E. 8279,400

15.:24,000 is saved in an account which gives 7% per annum compound interest. Find the
amount after 2 years.

A.N25,680
B. ¥16,680
C.N27,477.60
D.N24,777.60

16. Find the simple interest on ¥10,000 for 2 '/, years at 5% per annum.
A.N1250

B. N250
C. 83000
D. 81750
E. N2500

Page 79 of 266 Author: www.teststreams.com



Mathematics Exam Questions and Answers Pack

17. Find the compound interest on 840,000 for 2 years at 5% per annum.
A.N41,000

B. ¥40,100

C.N1,400

D. 84,100

E.N2,100

18. Find the compound interest on 831,600 in 3 years if the interest rate is 5% per annum.
A.N4980.95
B. N4980.65
C.N4809.95
D. N4986.95

19. Find the amount of ¥15,000 for 20 yrs at 6'/4%.
A. N18,750
B. 33,750
C.N18,570
D.N33,570

20. Find the simple interest on N¥131.70 for 6 years 8 months at 4'/,%.
A.N39.51

B. 8¥59.50

C.N99.70

D. ¥109.65

E. N¥40.50
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21. A man borrowed 5000 to buy a car at 6% per annum compound interest and repays
8520 at the end of the year. How much does he still have at the end of 4 years to pay?

A.¥N4,000.00
B. N4, 370.95
C.N4,037.59
D. &4, 307.59
E. N4, 073.59
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TOPIC: SOLVING EQUATIONS

DIRECTION: Choose the correct answer from the lettered options.

1. Solve the equation
3a=2b+1
3b=5a-3

Using the method of elimination.

A.a=-5b=-8
B.a=5b=-8
C.a=-8b=5
D.a=1b=8
E.a=1b=-8

2. Solve the equation; bp - 2x =4, p - 4x = -1.
A x=-05y=1

B.x=1y=-05

C.x=05y=2

D.x=05y=-1

E.x=05y=1

3. Solve the equation; 4x+y =7,y - 3x = 9.
A.x=6.20,y=0.80

B.x=0.80,y=-0.29

C.x=7.08,y=8.16

D.x=-0.80,y =0.29

E.x=-0.29,y =8.16
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4. Solve the equation: 2/ _x=4.
A3
B.5
C.9
D.1
E.2

5. Simplify ?4/s +2 9.
A.54
B. 27
C.30
D. 25
E. 22

6. Solve the equation *~%/2 = 10.
A. 25
B. 29
C.35
D.12
E. 40

7. Solve the equation of 2/3 = /4y = 3/5.

A/

B. 4%/5
O™
D.3%/4

E.®/6
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8. Solve the equation 2 '/, + 2°/,, = 0.
A 4

B. -1
C.-4
D.-6
E.6

9. Which of the following mixed fractions is equivalent to //3?

A.5%/3
B.5'/7
C.5%/3
D.5%/6
E.5%/5

2 . 0.02x12
10. Simplify —
RIEY 4x0.03

A.02
B.0.02
C.0.002
D.-2

E.2

1. Solve °/7a-1-%/9 =0,
A1/,
B. 15/,
C.1%/6
D. 1/,
E. 13/,
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12. Find the value of y® -y if y = -2.
A. 10

B.8

C.6

D.-6

E.-8

13. Solve the following simultaneous equation:

An=1/3m=3
B.n=1/2m=4
C.n=1/2,m=1
D.n=1/5m=1
En=15m=5

14. What is the value of 2 ®/awhen a = -10 and b = 30.

A -4
B. 4
C.2
D.-2
E.1

15. Solve the equation of 3X + 4 = 5X - 6.
A4

B.7

C.5

D.9

E. 10
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16. What is the coefficient of x in the expansion of (x - 3)(x +5)?
A9

B.7

C.-3

D.-15

E.+2
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TOPIC: SOLVING TRIANGLES

DIRECTION: Choose the correct answer from the lettered options.

1. Find the value of g satisfying the equation: sin 65 = cos
A.10°
B. 60°
C.30°
D. 25°
E. 40°

2. A cone has a base radius of 6cm and height of 8cm. Find its slant height.

A.28cm
B.10cm
C.8cm
D. 6cm
E. 5cm

3. A painter has a ladder 25 meters long. He placed it so that it reached a point 20 meters up
the wall. How far is the foot of the ladder from the wall?

A 12
B.10
C.15
D. 30
E. 25

4. In a triangle ABC with angle B = 90°, AB = 6¢cm, BC = 8cm. Calculate the length of the third
side.

A 12
B.7
C.10
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D.5
E. 14

5. The angle between two parallel lines is

A. 360°

B. 180°
C.0°
D. 90°
E. 60°

<
6. Given that sin A =ﬁ ,find tan A.

N

™~
™~
e
\13
5 \‘\
| 2K
A. 12/5
B. 13/12
C.%/1
D. 12/13
E.%/13

7. A cone is 8cm high and the vertical angle is 54°. Calculate the radius.

A. 2.18cm

B. 1.53cm
C.2.96cm
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D. 4.08cm
E. 3.00cm

8. Inthe right v angled triangle ABC, calculate the value of X

25¢m
Xem
20cm &
A.10cm
B.15cm
C.18cm
D.20cm
E. 25cm

9. Find the angle marked X in the diagram.

A. 85°
B. 25°
C.60°
D. 90°
E. 65°

10. Inthe right _A angled triangle ABC, calculate the value of X

25¢m

Xcm

20cm

Page 89 of 266 Author: www.teststreams.com



Mathematics Exam Questions and Answers Pack

A.ntan
B.n cos
C.nsec
D.n cot

E. n sin

11. What angle is formed by the seconds and hours hands of a clock at 6pm?

)1800

A. 360°
B. 180°
C.90¢°
D. 60°
E. 45°

12. Calculate the lengths: 'a’ and ‘b’ (Let the lengths be in cm)

S b
370

A.a=obcmandbp = /cr%
B.a=5cmand b =4cm
C.a=14cm and b =13cm
D.a=3cmand b =2cm

E.a=4cm and b =3cm
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13. Vwhat is the value of H?

14. Find the value of X in the tnangle

81m s
100m
A. 200
B. 390
C.18.50
D. 490
E. 380

15. Find the value of ¢ inthe diagram drawn .

78
150 |

A. 595
B. 250
C. 291
D. 361
E. 400
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TOPIC: STANDARD FORM

DIRECTION: Choose the correct answer from the lettered options.

1. The population of two cities are 559 10° and 4.67 10°. Find the difference between the
two populations. Express this in Standard Form.

A.10.26 10°
B.9.2 10%
C.92 10°
D.92 10
E.92 10*

2. Express the following in standard form; 0.478.
A 478 107

B.47.8 10!

C.478 107

D.478 107

E. 478 10

3. Express ’3/10000 in standard form.
A.73 107

B.7.3 10°

C.73.0 10°

D.0.73 10

E.7.3 107?

4. Find the value of 3.7 x 10° - 4.8 10* and give the answer in standard form.

A.3.22 x 10°
B. 3.22 x 104
C.3.22x10°
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D. 3.22 x 102
E.3.22 x 10°

5. Express the following in ordinary form: 1.57 107°..
A.0.000157

B. 0.0157

C. 0.00157

D. 0.0000157

E. 0.157

6. Simplify the following and give the answer in standard form: 7.9 10°+4 10°
A.794 108

B.7.94 108
C.794 10°
D.794 1073
E.794 10°

7. The area of Port Harcourt is 123540km?. Express this area in correct to 3 significant
figures.

A 123 107°km?
B.124 107°km?
C.540 10%m?
D.124 10° km?
E.124 10°%km

8. Nigeria has an estimated population of 6.05 107 people and a land area of 8.7 10*%m?.
Calculate the population density of Nigeria.

A. 906 (people / km?)
B. 800 (people / km?)
C. 900 (people / km?)
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D. 912 (people / km?)
E. 900 (km?/people)

9. Express the following in standard form: 56.3.
A.56.3 10?

B.5.63 10

C.0.0563 1073

D.0.0563 10°®

E.0.0563 1073

10. Simplify the following and give the answerin 1.3 102-7.8 10
A -65 107

B.0.52 10*

C.52 10*

D.52 108

E.52 10"
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TOPIC: STATISTICS

DIRECTION: Choose the correct answer from the lettered options.

1. Marks out of 10 were given to 8 students as follows: 5, 8, 7, 9, 3, 6, 3, 4. Select the marks in
ascending order of size.

A1,235,6,78,9
B.3,3,456,7,89
C.4,56,8,9, 3, 2,1
D.9,8,7,6,5 43,2
E.6,3,45,7635

2. Find the median of the following set of numbers 2, 3,5,7,6,8,2,7,9, 2.
A.55

B.4

C.65

D.7

E.5

3. Find the mode of the set of numbers 2, 3,3, 3, 4,6, 8,9, 9,12.
A 2
B.4
C.3
D.6
E.9

4. In an examination of a class of twelve, the following marks were scored in mathematics 5, 4,
2,8,5,4,7,2,5, 4,3 and 5. What is the median mark?

A7
B.5.5
C.5
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D.45
E. 4

5. In an examination of a class of twelve, the following marks were scored in mathematics 5, 4,
2,8,54,7,2,5, 4,3 and 5. What is the mean mark?

A .45
B.4
C.5
D.5.5
E.6

6. In an examination of a class of twelve, the following marks were scored in mathematics. 5,
4,3,8,5,4,8 25,4, 3, and 5. What is the median mark?

A7

B.5.5
C. 44
D. 3.9
E. 45

7. Find the mean, median and mode of 5, 8, 8, 5, 2, 5, and 9.
A. Mean = 6, median = 5, mode =5
B. Mean =5, median = 5, Mode =5
C. Mean =7, median = 6, mode = 5
D. Mean = 6, median = 8, Mode = 2

E. Mean = 9, median = 5, mode = 8

8. Find the mode of the following set of numbers: 6,5, 3,6, 3,2, 4, 6, 4,5, 6, 4.
A 2

B.5
C. 4
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D.6
E.3

9. The difference between the smallest and largest numbers in an observationisthe________
A. mean

B. median

C. mode

D. range

E. subtraction.

10. A pie chartis like ______ in shape.
A. a circle

B. a rectangle

C. a square

D. a trapezium

E. a triangle

11. The scores obtained by 10 students in a test are: 1, 3,5, 6, 4, 7, 6, 7, 5, 6. What is the mode
of the scores?

A1

B.3
C.4
D.5
E.6
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TOPIC: WORD PROBLEMS

DIRECTION: Choose the correct answer from the lettered options.

1. What is the expression of a number that is 7 less than the product of 9 and p?

A 2p
B.-2p
C.7-9p
D.9(p-7)
E.9p-7

2. Subtract the sum of 89 and 357 from 2000.
A. 2268

B. 2179

C. 1911

D. 1643

E. 1554

3. A motorcycle uses 5 liters of petrol for a journey of 30km. How many liters will it use for a
distance of 174km?

A. 150 liters
B. 35 liters

C. 29 liters

D. 25 liters

E. 6 liters

4. The sum of two numbers is 31. 2/3 of one of the numbers is equal to 5/8 of the other. Find
the two numbers.

A.16 & 13
B.15 & 11
C.16 & 15
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D.13&15
E.13& 14

5. A number multiplied by itself is equal to 5%/4. Find the number.
A.5%/3

B. 5%/

C."/3

D.3%/7

E.53/4

6. Divide 20 by the difference between the product of 2 and 5 and the square root of 64.
AD

B.-10
C. 3.33
D.8
E.10

7. A number is multiplied by itself, the product is 6'/4. Find the number.
A 2/,

B.21/3

C.1%/s

D.2%/3

E. 1/

8. A car starts a journey with a full petrol tank. The amount of petrol (p) litres left is given by
the formula p = 63 - 10t. How long will it take the car to run out of petrol? (i.e. find t when p =
0).

A. 63 hours
B. 6.3 hours
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C. 6 hours
D. 1 hour
E. 3 hours

9. Find the positive difference between 31 and the product of 4 and 14.
A.56

B. 31
C.25
D. 28
E. 35

10. A book with 8,000 pages weighs 30kg. What is the weight of a similar book with 1, 200
pages?

A. Bkg
B. 4kg
C. 45kg
D. 5kg
E. 5.5kg

11. Two-thirds of a certain number is equal to the sum of three-seventh and one-third. Find
the number.

A /2
B.3%/63
C.%/3
D.”/s

E. 1/,
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12. The difference between two numbers is 4. The result of adding twice the first to the
second is 20. Find the values of the numbers in that order.

A. (4, 8)

B. (8, 4)
C.(9'/3,13"/3)
D. (12, 16)

E. (16, 12)
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ANSWERS
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TOPIC: ALGEBRA

DIRECTION: Choose the correct answer from the lettered options.

1. 1 think of a number. | take away 14. The result is 13. What number am | thinking of?
A -1

B. 27
C.-27
D.1

The correct answer is option [B].

Solution.

Let the number | am thinking of be x
x-14=13
x=13+14 =27

2 Solve the equation,

X+ 2 X-3
S 2 3 +1
A.x<3
B.x>3
C.x<-3
D.x>-3

The correct answer is option [A].
Solution,

Multiply through by 15 since the L.C.M. Of the denominatoris 3 x5=15

115_)( X;‘Z > X-33 x—]i5_+1x15
3x+625x-15+15
3x + 6 = 5x
3x-5x 2-6
-2X2 -6
x<3
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3. The middle of three consecutive numbers is h find the other two numbers and the sum of
the three numbers.

B. 8h
C.5h
D. 3h
E.h
The correct answer is option [D]
Solution
If the middle number is h that means above it will be h+1, below it h —1
Sowe haveh—1,h, h+1
The other two numbers are h—=1, h+1.
Sum of the three numbers=h -1 +h +h +1

=h+h+h-Y +%
=3h

4.1 think of a number. | multiply it by 7. | add 12. The result is 40. What is the number | am
thinking of?

A5
B.3
C.4
D.6
The correct answer is option [C].

Let the number | think of be y.

7y +12 = 40
7y =40 -12
7y =28

y=28/7=4

5. The perimeter of a rectangle is 30 cm and its length is x cm. Find its area in terms of x.
A. (30x - x?) cm?

B. (15x - x?) cm?

C. (15x2? - x) cm?

D. (30x + x) m?

The correct answer is option [B].
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Solution.

The area of a rectangle = length x breadth, where the length = x and the breadth =15 - x

Area =x x (15 - x) = (15x - x?) cm?

6. Solve the equation,
7+x _q
5=

A5
B.9
C.-5
D.-3

The correct answer is option [C].
Solution,
multiply both sides by 2

_Z.%'_’(_xz =1x 2

7+x=2
o x=-5

7. The perimeter of a rectangle is 30 cm and its length is x cm. Find its breadth in terms of x.
A. (30 -x) cm

B.(15-x) m

C. (30 +x) cm

D. (15 -x)cm

The correct answer is option [D].

Solution.

Perimeter of a rectangle = 2(l + b), where | = x and the breadth = b
30 =2(x + b)

1B5=x+b
The breadth b = (15 - x) cm.
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8. Idahtonye has ¥50.00. He buys six mangoes and gets ¥2 change. Find the average cost
of one mango.

A. N6

B. N7

C. N9

D.N8

The correct answer is option [D].

Solution.
Average cost of one mango = N50 - N2 = N48
N48/6 = N8

9. A dog cost Np and a chicken costs Ns less than a dog. Find the cost of two dogs and one
chicken.

AN (3p-s)
B.N(2p-s)
C.N(p-2s)
D.N (s-3p)
E.N(2s+p)
The correct answer is option [A]
Solution
Dog = Mp
Chicken=HN(p-3)
2dogs =2xp
2 dogs and 1 chicken
=2p +(p-3)
=2p+p-s5=3p-5
=M (3p-35)

10. Solve for m and n in
15m + 10n = 60,
15m - 9n = 3.

Am=2n=5

Bm=1n=5
C.m=3n=2
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Dm=2,n=3
Em=5n=4
The correct answer is option [D]
Solution
18m +10n=60 ... ......... (1)
19m—-9n=3 ................(2)
rultiply equation (2) by —1
18m +10n=60 ......... ... (1)
-15m+9n=-3 ............(3)
19n =57
= PE
n= 0= 3

Substitute for n in equation (1)
15m +10(3) = 60

15m + 30 = 60

Take like terms

15m = 60 — 30

15m = 30

Lm=2

11. The greater of two consecutive numbers is a. Find the sum of the two numbers and
subtract the sum of the two numbers from 5a.

A 3a+7
B.5a +8
C.a+1
D.3a+1
E.2a+3

The correct answer is option [D]
Solution
MNote: Two whole numbers are consecutive when their difference is 1. If a is the
greater of two consecutive numbers, the lower numberisa - 1.
Sum of the two numbers = a+(a-1)
Sa+a-1
=2a-1
the sum subtracted from 5a
=5a-(2a-1)
=ha-2Za+1=3a+1
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TOPIC: ANGLES

DIRECTION: Choose the correct answer from the lettered options.

1. Find angle m’, L and n°

35"\,3%%

%Iﬁ

A.m° =45° L°=75° n°=105°

B. m° =110¢°, L° = 65, n° = 50°
C. me° =45°, L° =135° n° = 45°
D. m°®=78° L°=75° n°®=75°
E. me° =45°, L° =125°, n° = 45°

The comred answer is option [C]
Solution

100
35 n’

m*5

L° =135 (vertically opposite angles)
360=100+35+135+m+n
360=270+m+n
m+n=360-270

m+n=90

m+n= 9(% =45

m = 45", n =45° (vertically opposite angle)

2. Findthe value of X wheny =2 % cm and Z = 6cm

4
A- 13
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B. 7/,
c. 4
D. 13/
e. 12

The comrect answer is option [D]

Solution
y X
=
=P 2
5 2
XQ = + 62
2
2
=_—+ 306
NG 25+144 169
4 4
wo [0
4
13
' 4

3. A pole is 95m high. Calculate the angle of elevation of its top from a point 150m away on
the ground level.

A. 25.8°
B. 32.4°
C. 32.3°
D. 53.4°
E. 33.4°

Page 109 of 266 Author: www.teststreams.com



Mathematics Exam Questions and Answers Pack

The correct Answer is Option [C]
Solution

95m

1Q O
150m

Let the angle be Q
TanQ= 2

150
Tan Q=0.6333
Q=tan" 0.6333
Q=32:33:=32:3"

4. A cone is 11lcm high and its vertical angle is 74°. Calculate the radius of its base.
A. 6.3cm
B. 8.9cm
C.9.8cm
D. 8.3cm
E.5.6cm

The correct Answer is Option [D]
Solution
>

L =
[

The vertical angle is 2o
2cc = 74®

e |
Thus o< = e

o = 37°

1IN angle CXP. tan o< = ﬁ
r= 11 tan 37°

11 x O. 7536

8.29
S.3cm

5. A tree is standing vertically such that it stands 40cm above ground level. Find the length
of its shadow when the elevation of the same is 60°.

A. 40cm long
B. 33cm long
C.23cm long
D.57cm long
E. 44cm long
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The correct Answer is Option [C]
Solution

A

40CM

M 60"
B X ~

If C = 60°, then A =90° - 60° = 30°

5C —tan 30°
AB

X =0.577
0

X=40x 0577
X =23.08
X =23cm long

6. Two concentric circles have radii 2cm and 3cm respectively, calculate the ratio of their
areas.

A 4:9
B.7:88
C. 7198
D. 8:18
E. 9:88

The correct answer is option [A]
Solution

Radius of a circle = r?
Circle 1= @22  circle 2=w3?

Since 7 is common
we have 223 = 4.9

7. What is the value of sin 27.6° using four-figure table?
A. 0.4540
B. 0.3545
C.0.3525
D. 0.4555
E. 0.4633

The correct answer is option [E]
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8. Find the value of y when X = 16 and Z%= 60?

A7
B. 4
C.12
D.8
E. 14

The corredt answer is option [E]
Solution

Z

16 = 4fy* +60

Take square of both sides
16% =% + 60

162 - B0 ="

W = 256 — 60

v = 196

Y= M =14

sy=14

9. Calculate y

50m

40

A.59.6m
B.50.9m
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C.895m
D.29.6m
E.67.8m

The correct Answer is Option [A]
Solution
Since angle CBA is right angled at A
B =90"-40" = 50"
2™ = tan 50°
50
ym =50 tan 50°
=50x 1.192
=59.6m
Alternatively

5
tan 40" = 2
y
ytan 40" =50
50

- tan40°
y=59.6m
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10. An aerial is 95m high. Calculate the angle of elevation of its top from a point 100m away

on level ground.
A.20.59°

B. 43.53°
C.17.41

D. 35.80°

E. 44.73°

The correct answer is option [B]

1. Find angle f°

120° 5
/71120
f0 \
A 120°
B. 30°

C.60°
D. 240°
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E. 90°

The correct Answer is Option [A]
Solution

120" :
120

fD

(Sum of angles meeting at a point)
360=f"+120 +120
360 =1 + 240
' =360 — 240
=120"

12. If the angle of depression of A from B is 42°, what is the angle of elevation of B from A?

A.138°

B. 42°

C. 48°

D. 228°

E. 318°
The correct answer is option [B]

SOLUTION
B

42°

42°

13. Find angle a’

4

/

/ia;‘ \50
A. 220°
B. 130°
C.40¢°
D. 310°
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E. 210°

The correct Answer is Option [B]

aIJ
50
Angle on a straight line
180°=a +50
a’=180-50
a’ = 130"

14. From the diagram below, find the value of x and y hence find the area.

4x+3

4x-y 3x+1

X+6Yy
A.150cm?
B. 130cm?
C. 110cm?
D. 90cm?
E. 85cm?

The comect Answer is Option [A]
Solution

From the study of the rectangle

45X +3=X + 8By

Alsodx —y=3<+1
For 4X +3=X +8By

Collection of like terms

4K —¥—By=-3

K —By=-3 ... ... (n
For A —y=3K+1

Collection of like terms

From equation (2)
YOS A N s s (3)
Substitute 1 +yfor X in equation (1)
OX —6y=-3
3{1+y) —6y=-3
3+3y—6y=-3
3y —By=-3-3
By =-6

y=2
Substitute y = 2 in equation (3)
K=1+y
K=1+2
K=3
= The length 4X+3, X=3
4(3)+3
12+2=15cm
X -y (KX =3,v=2)
4(3)-2
1
1

Wyicih

2-2

0
soArea=({15x10)cm2
= 150cm
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15. The area of a triangle are X°, 2X° and 3X°. Find the value of X°.
A. 30°
B. 35°
C. 40°
D. 60°
E. 20°
The correct answer is option [A]
Solution
X+2X +3X =180

6X =180°
=Rl

16. Calculate the value X" in the figure.

0 120°
X 60’

A. 40°
B. 60°
C. 80°
D.100¢°
E. NO°

The correct answer is option [B]

Ve - 120°
Solution.
From the figure X” = 60°
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TOPIC: AREA OF SHAPES

DIRECTION: Choose the correct answer from the lettered options.

1. Ifthe area of the triangle is 3.75cm”. What is the height?

A. 3.0cm
B. 2.5cm
C.7.5cm
D.5.0cm
E. 3.5cm

The correct answer is option [B]
Solution

Area = V2 base x height
Cross multiply

2 x area = base x height

Height = 2% Area o 2%x3.75

base 3

=25cm

2. The area of a rectangle of length 10.5m is 84m2, what is the breadth?

A.7m
B. 8m
C.7.4m
D. 9m
E. 8.4m

The correct answer is option [B]

Solution.
Area of rectangle=L xb
= frea 34 _
L 10.5
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3. Calculate the area of the parallelogram.
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= Y%
. “" 10em
cm 54

A. /0cm*
B. 40cm?
C. 90cm?
D. 35cm?
E. 160cm?

The correct answer is option [B]
Solution

Area of parallelogram = base x height.
=4 x 10 = 40cm’

4. A rectangular tank 600cm long by 2m wide holds 36m? of water. How deep is the water in

the tank?
A.Bm
B.5m
C.3m
D.9
E. 1.bm
The carrect answer is option [C]
Solution
600cm to m
100cm = 1m
.. B00cm =6m
depth = height
i B s B0 B

T IxB 6x2 13

5. How many vertices has a cube?

A4
B.5
C.6
D.8
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E. 12
The correct answer is option [D]
Solution.
1 2
? {m}
5 )

6. Find the length of the diagonal of a rectangular box which measures 12m by 5m.

A.60m
B.30m
C.94.3m
D. 13m
E. 14m
The comed answer is option [D]
Solution
12m
5m 5m
12m
let the length of the diagonal be x
12m
5m
X

Since the triangle formmed is a nght angle.
= From Pvthagoras theorem;

K= P25 52

>XZ =144 + 25

>XZ =169
=‘\J‘i69
XK =13m

o, The length of the diagonal is 13m
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7. A rectangular room 5m long and 4m wide contains 20m? of gas. Calculate the height of the
room.

A.3m
B.2m
C.0.5m
D.1m
E.5m

The correct answer is option [D]
Solution
Yolume of room = 20m*
But volume=L xb xh

Make h the subject of the formula
o volume _ 20m° 20

=—=1m
Ixb Sxdm 20

8. How many trimake up a quadrilateral?

A1
B.2
C.3
D.4
E.5
The correct Answer is Option [B]
Solution
Number of triangles = Number of sides = 2.
=4-2
=2

9. Find the area of the shaded portion in the diagram.

10cm

/Cm 10em
7

A. 93cm?
B. 61.5cm?
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C.29cm?
D. 60cm?
E. 615cm?

The carrect Answer is Option [B]

Solution.

Mathematics Exam Questions and Answers Pack

Area of shaded portion = Area sguare — Area of circle.

Area of square = Lx b = L2 = 107 = 100cm?
Racius of circle ="/ = r=3.5cm

Area of circle = rk = 22 % 35cm x 3.50m

=(11% 3.5) cm?
=385 cm?

=Area of shaded portion = 100cm? - 38 5cm?

=61.50m?

1

10. Calculate the area of the triangle.

1.8

A. 4.0cm?
B. 6.5cm?
C. 3.6cm?
D. 2.8cm?
E. 1.8cm?

The correct answer is option [E]

Solution

Area of triangle = 2 base x height
=% x18x2=18m?

N Calculate the area of the trapezium ABCD.

D_ 5¢cm

A. 40cm?
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B. 24cm?
C. 48cm?
D. 50cm?
E. 96cm?

The correct answer is option [C]

Solution
The diagonal AC divides the trapezium into two triangles. Height=B6cm
Area of angle ACB = % x 11 x6 =33cm?
Area of angle ACD =% x5 x 6 =15cm?

. Area of trapezium = 33cm’ + 15cm” = 48cm”

12. Calculate the area of the quadrilateral.
7

A. 30cm?
B. 48cm?
C.60cm?
D. 15cm?
E. 35cm?

The correct answer is option [A]
Solution
We will divide it into two with a diagonal

We have angle ABC, h=7

Area of angle ABC = % %6 x 7 = 21cm?
Area of angle ACD =% x 2 x 9 =9cm?

- Area of quadrilateral= 21 +9 = 30cm?
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13. How many sides has an heptagon?
A5

B.6

C.7

D.8

E.9
The correct answer is option [C].

It is a 7-sided polygon.
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TOPIC: CALCULATION USING STANDARD FORM

DIRECTION: Choose the correct answer from the lettered options.

1. Simplify 1.7 x 10* + 8.5 x 10® in standard form.
A.2.35 x 10*

B.23.5 x 10*

C.235x10*

D. 0.235 x 10®

E.2.35x10°®

The comrect answer is option [A]
Solution
17x10%+65x% 10°
10°{1.7x 10 +86.5)
10 (17 +6.5)
10% (23.5)
By factorisation
10% (2.35 % 10)
2.35x 10% x 10"
2.35x 10¢

2. Find the value of 2.7 x 108 - 3.5 x 10°.
A. 235 x 10°¢

B. 2.35 x 10°

C. 235 x 107

D. 2.35 x 10/

E. 0.235 x 10°

The correct answer is option [B]
Solution
27 %x10°-35x10°
2,700,000 -350,000
=2 350,000
=235 x 10°

3. Simplify 3.85 x 108 - 2.36 x 108,
A. 150 x 108
B. 1.49 x 108
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C.149x10°®
D. 149 x 10’

E.1.47 x 108

The correct Answer is Option [B]

Solution

3.85 x10° - 2.36 x 10%
10% (3.85 - 2.36)

108 (1.49)

1.49 %10
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4. Simplify 1.1x 107® 8.7 x 10* in standard form.

A. 2.3 x10*
B.2.3x1073
C.23x10"
D.23x10™*
E.2.3x107

The comrect answeris option [D]

Solution

1.1%10°-8.7 x 10°
10%(1.1-87x 10
10%(11-87x0.1)
102 (1.1-087)
103

102 (2.3 % 10")
23% 10%x 10"
23 % 10%
23%10%

5. Express 4.00 x 108 in ordinary form.

A. 400000

B. 4000.000
C. 400.000

D. 400
E. 40.000

The correct answer is option [B]
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6. Round off 28006 to the nearest ten.
A. 28000

B. 280010

C. 28010

D. 2800

E. 28100

The correct answer is option [C]

7. Simplify (3 x 104) = (7 x 1073).
A. 4.3 x10°

B.2.1x10¢

C.43x104

D.10 x 10°

E. 3.8 x10°

The correct Answer is Option [A]
Solution

(33 10% + (7 x10%
_ 3x10*

=043 x10°
=43 x 10" x 107
=43 x10°

8. Express the following in ordinary form 9.36 x 10”.
A.9, 360,000

B. 93, 600, 000

C. 930, 600, 000

D. 0.0000000936

E. 936, 000

The correct answer is option [B]
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9. Simplify (7 x 107) x (9 x 103).
A. 7.2 x 10"

B. 1.6 x 10

C.6.3x 10"

D.5.9 x 10"

E. 8.3 x 10"

The correct Answer is Option [E]
Solution
7 % 107 % (9 x 10%
7 %9 x 107 x 10°
63 x 107+
63 x10"
=63 x10x10™
=63 x10"

10. Round off 0.000666 to 1 significant figure.
A.O

B. 0.0006

C. 0.00066

D. 0.0007

E. 0.001

The correct answer is option [D]

11. Divide 6 x 10® by 2 x 102
A . 8x10°

B. 0.3 x 10°

C.12x10°¢

D. 3 x10¢

E.3x10

The correct answer is option [B]
Solution

=B x10% + 2 x10%

_ 6x10°

2 x1072

=% x10%®
2

3 x10°
0.3 x 10°
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12. Express 60000 in standard form.
A.6.0x10°

B. 6 x 10*
C.6.00 x 10?
D.6 x10°

E. 600 x 104

The correct answer is option [B]

13. Express 28 thousandths as a decimal fraction.

A. 28000
B. 00028
C.0.0028
D. 0.028

E. 0.2800

The correct answer is option [D]

14. What significant figure is 0.055 rounded off to?
A1

B.2
C.3
D.4
E.5

The correct answer is option [B]

15. Express 4.387 x 10° in ordinary form.
A. 438700000

B. 43870000

C. 4.38700

D. 438700
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E. 43.8700

The correct answer is option [D]

7 3
. e @ Xa
16. Simplify ———;
a Xa
A a™
B.a”’
C.a’
D. a®

E.a°
The correct Answer is Option [B]
solution

7 3 T+3
a xXa& _a

as % (29 a%+9

10-17

=a

alﬂ
;
.
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TOPIC: DIRECT AND INVERSE PROPORTION

DIRECTION: Choose the correct answer from the lettered options.

1. M varies directly as N and inversely as S. If K is the constant of variation, express K in terms
of M, N and S.

A.K=M/NS
B.K=MN/S
C.K=MS/N
D. K=N/MS
E.K=NS/M

The correct answer is option [C)
solution.
M varies direactly as N and inversly as S

M o _Itl_
S
_ N s
M= EK where K is a constant

cross multiply

M3
MS=NK . K= —
N

2. A length of wire can be cut into six pieces each 27cm long. How many pieces each 17cm
long can be cut from the wire?

A. 8 pieces
B. 17 pieces
C. 9 pieces
D. 14 pieces
E. 10 pieces

The correct Answer is Option [E]
Solution
n_1

27
17

6

27 %06
17

n-=

=9.52=10
there will be 10 pieces.
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3. Calculate the reciprocal of 0.67.
A. 3.946
B. 1493
C.1590
D.2.783
E. 2.997

The correct Answer is Option [B]
Solution
Reciprocal of 0.67 is 1 100
0.67 67

1.4925
67 )100.0

67
330
268
620
G603
170
134
360
335
25
.Reciprocal of 0.67 is 1.493.

Mathematics Exam Questions and Answers Pack

4. If X varies inversely as y, and X = 9 when y = 3. Find X when y = 9?

A 46
B.45
C.4
D.3
E.-4

The Correct answer is option [D]
Solution.

Xmi:x:j_c

¥ ¥
K=8v¥=3

s
2 3
Cross multiply
Lok=27
When y =9, X =7
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5. R is partly constant and partly varies with E. When R = 530, E =1, 600 and when R =730, E
= 3, 600. Find the formula which connects R and E, find R when E = 1,300.

A. (1) R=160 +1/10, (Il) R = 290
B. (1) R=370 +1/10, (ll) R = 500

C.(I) R=530 +1/10, () R = 660
D.(I) R=200 +1/10, (II) R =330
E.(I) R=377 +1/10, (ll) R =500

The correct answer is option [B]

R=c+ke

20c 1k vl 1] R—— ()
730=c+3, 600K ..o (2)
Subtract equation (1) from (2)

200 =2, 000K

0 1

T 00 10
1
530=c+ 1608 | —
u&[mj

530=c+160
Thenc =370

R=3m+Z
10

Thus R =370 + %E is the required formular

. When E = 1300

1300
R=370+—
10

R =370 +130
R=1500

6. Given My LwhenM=6andL =2.

(i) find L, the relationship between M and L

(ii) The value of L when M = 15.

A ()M=2L, (ilM=4

B.() M=4L, (i)M=6

C.()M=3L, (i)M=5

D. (i) M=5L, (ilM=7

E.()M=2L,(ilM=7

Page 132 of 266

Author: www.teststreams.com



Mathematics Exam Questions and Answers Pack

The correct answer is option [C]
a) m< L
m =KL
m

P
1]

P
1

07
5
2
3
erefore M =3L is the relationship between M and L

7 =

m
5

—

2
3
5

I
I

7. A car travels 72km on 9 litres of petrol. How far will it travel on 15 litres?

A.140km

B. 144km

C. 49.9km

D. 120km

E. 14km

The correct answer is option [D]

Solution
72km = Slitres
¥ =15 litres
9X =72 x15
yoe 72x18

9

X = 120km

8.Given X Y/,wheny=7,Z=3,and X = 42.

(i) Find the relationship between X,y and Z,
(i) find Xwheny =5 and Z = 9.

A. (i) X=182/3, (ii) X =12
B. (i) X =18y/z, (ii) X =10
C. (i) X=18z/y, (ii) X =14
D. (i) X =16y/z, (ii) X =16
E. (i) X =18yz, (ii) X=10
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The correct answer is option [B]

a) Xo(i
Z
X:Q
z
Wheny=7andZ=13 X=42
Thus,42=}%”'
_ 3x42

K =18

Hence X = % is the relationship between X, Y and Z
b) Wheny=5andZ=9

. 18x5 _ 9% 5

k=10

9. 2 bags of salt cost N6 and 10 bags of salt cost ¥20, find the cost of 12 bags of salts.
A . N72

B. N36

C.N4

D. N63

E. N27

The correct answer is option [B]
Solution.

The costis indirectly proportional to the number of bags
a)] Letthe costof 12 bags be X Naira

x 6
Then 7°3
K =12%6
y = 12x6
2
» =HN36
12 bags cost H36

10. Solve the equation 4%8 =52

A.260/23
B. 520/52
C.23/26
D.26/23
E. 23/260

The correct answer is option [A]
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11. A motorist travels 60km between two villages.
(a) Make a table showing the speed of the journey if it takes 1h, 2h, 4h.
(b) Is the speed directly or indirectly proportional to the time taken?

(c) If the cyclist travels at 20km per hour, find how long the journey takes.

A Time (h) 1 12 |4
Speed (km/h 60 |30 | 15
Directly proportional,
7 hours
B. Time(h 1 ]2 |4
Speed (km/h 60 |30 | 15
Indirectly proportional,
3 hours
C.  Time(h) 1 [2 |4
Speed (km/h 60 |30 | 15

Directly proportional.

6 hours
D. Time (h) 1 |2 4
Speed (km/h 60 |30 | 15

Directly proportional,

3hours
E. Time (h) 112 |4
Speed (km/h 60 |30 |15

Indirectly proportional,

6 hours
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The correct answer is option [B].
Solution
a)

Time (h) 1 2 4
Speed (km/h 60 30 15

b) From the table if the time is doubled the speed is
halved. Therefore, speed is inversely proportional
to time.

c) Let the number of hours =t
= at t hours = 20km/h
4hours = 15km/h

20
=3 hours
Or
Using time = distance
speed
60

20

= 3 hours

12. Find the reciprocal of 180.
A. 0.0055

B. 0.0145

C.045

D. 0.0505

E. 0.055

The correct Answer is Option [A]
Solution
180 =1.80 x 10°
1 1

180 1.8x10°

1 1

- X —

180 10?

=0.55x 107
=0.0055
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13.1fa /b and a=2 when b =3/ find awhen b =3/5..A. 3
B.4
C.5
D.6
E.8

The correct answer is option [C]
solution
1

=%
aocE:aocEK— /é

a=2when b= g substituting

2:&:2:%
% 3
cross multiplying
8k=6
el 3
3 4
ﬁndawhenb=i
20
TS,
b
5
3/’
i
a—7—%
20
L a=5

14. A length of a storage can can be cut into 12 pieces of length 30cm. How many pieces

each 20cm long can be cut from the storage can?
A. 16 pieces
B. 9 pieces
C. 50 pieces
D. 18 pieces
E. 8 pieces
The correct Answer is Option [E]
Solution
If 12 piece swill give 30cm
i.e. 12 pieces =30cm
Then X pieces =20cm
Cross multiplying
30X =12 %20
Divide through by 30

4
G l/xl(y

=8 pieces
30/ "
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15. Given X '/, when X =9 and y = 4. Find the formula that connects X and y.
A y/36

B.5/y

C.2.25/y

D. 36/y

E. 36y
The correct answer is aption [D]

Xexl
c(}’
¥

AARAR X
I 1
L) WO ¢
G'unccgql
E =N

U

=<

Il
‘c|g

16. P is directly proportional to Q, P = 7 when Q = 35, what is the relationship between P and
Q?

A P=7Q

B.P =350

C.P=1/7Q

D.P=1/5Q

E.P=1/5Q
The correct answer is aption [D]

Solution.
Pe@Q P=7,0=35

P =QK where Kis a constant
7 =35K

P=Ia

17. A book with 3, 000 pages weighs 15kg. What is the weight of a similar book with 600
pages?

A. 1kg
B. 3kg
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C. bkg
D. 7kg
E. 9kg

The comrect answer is option [B]
Solution
3, 000 pages = 15kg
600 pages =X
3, 000X =15 x 600
X = 15x600

3000
X = 3kg

18. Solve the following simultaneous equations:
S5v=11+3u
2u+7v=_3.

Av=-Tandu=-2
B.v=Tandu=-2
C.v=tlandu=2
D.v=2andu=-3
E.v=1Tandu=-b6

The correct answer is option [B]
Solve the following simultaneous egquations.
Sv=11 +3u
2u+7v=3
Su+bv=11 (1) multiply by 2
20+7v =3 ............2) multiply 3
Bu+10v=22 . ...............(3)
Bu+21v=9. . ........(4)
Adding the equations
v =31
v =1
Bu+21(1)=9
Bu+21=9
Bu=9-21
Bu=-12
u=-2
v=1andu=-2
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19. A motorcycle uses 5 liters of petrol for a journey of 30km. How many litres will it use for a

distance of 174km?

A. 27 liters
B. 28 liters
C. 29 liters
D. 30 liters
E. 26 liters
The correct answer is option [C]
Solution.
5 litres = 30km
X =17 4km
30kmX =5 litres x 174km
Slifres x17
X =
30
X =29 litres.

20.1fa '/, and a=2 when b =23/5find a when b =3/5.

A.B5
B.6
C.7
D.8
E.9
The comred answer is option [A]
Solution
1
axx— =a=
b
k
2 S 7
8
K ==2x

3
%

]
Il

~
Il
iy

%

320
Eﬁ%*%o
a=37 %204
a=5

Page 140 of 266

Author: www.teststreams.com



Mathematics Exam Questions and Answers Pack

21. Four cartons of milk cost 840 and seven cartons of milk cost ¥70.
(a) Does the cost of milk vary directly or inversely with the number of cartons?

(b) Find the cost of 20 cartons of milk.

A. Directly: 8200

B. Directly: 8150

C. Inversely: 880

D. Inversely: 8120

E. Directly: 8100

The correct Answer is Option [A]
Solution

a) Find the ratio of the corresponding numbers of cost and cartons.

7cartons =7 andMN70 =7

4cartons 4 N40 4
Thus, the cost is in direct proportion to the number of cartons

b) = The cost of 20 cartons be y Naira
the cost of one carton is M 10 from the cost of 4 cartons or 7 cartons

1 cartons =N20 orN;O =N10
then the cost of 20 cartons is

20xM10=N200

22. What is the reciprocal of 0.025?
A. 400

B. 40

C.4

D.04

E.0.04
The correct answeris option [B]

Solution

Reciprocal of 0.025
=_L -40
0.025
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23. A car travels 42km on 6 liters of petrol. How far will it travel with 12 liters?

A. 84km
B. 80km
C. 21km
D. 72km
E. 48km
The corect Answer is Option [A]
Solution
If 42k = 6 liters.
Then Xkm=12 liters
Cross rmultiphying will give

BX=42x%12
Divide through by 6

f 2
¥= %3—\_ adkm
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TOPIC: EVERYDAY ARITHMETIC

DIRECTION: Choose the correct answer from the lettered options.

1. Find the compound interest $120 for 2 year at 5% per annum.

A $6
B. $6.3
C. $10
D. $9
E. $12.3
The correct Answer 5 Option [E]
Solution
Principal = $120, rate = 5% time = 2 year
First wear
1205541
W= o =%
106
Amount at ec(d of first yvear
=3$120+ F5 = $125
T'year

Princip al is noww $126
- 12631 ..
- 1 0 /,_f

/

Lx]

Amount at end of 2™ wear
P15+ .3
1323
sCompound interest = 13232 — 120

= $12.3

2. Find the compound interest 850, 00O, for 3 years at 8% per annum.
A.N12,985.00
B. 12, 985.60
C.N12,985.40
D.N12, 985.20
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E. 812, 958.60

The comred answer is option [B]
Solution

P= k50, 000, T = 3years R=8%
First vear

50-600 = 8
4= ———— x 1 = #4000
: 106~
Amourt at end of first year = 50,000 + 4000
= 54,000
2™ year
Principal is now 54,000
L= )4.1 x8 — 4320
Amount at end of 2™ vear
54,000 + 4320
58,320
3" vear
Principal is now 858, 320
58.32(Y<8
ls = "3—0/x = MNABBS B0
100/

Amount at end of 3 year
58320 + 4665.65
RG22, 985 .60
- Compound interest = 62,985 60 — 50,000

=i12, 98560

Mathematics Exam Questions and Answers Pack

3. Find the amount that 87,000 becomes if saved for 2years at 5% per annum compound

interest.

A. N 350
B.N367.5
C.N7,7175
D. N 7350
E.N7775
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4. Find the amount that 820, O00 becomes if saved for 3 years at 10% per annum
compound interest.

A. X 2000
B.N 24,200
C.N26, 620
D. N 22,000
E. 826, 260
The comect Answer is Option [C]

Solution
Principal= N7000, R= 5%, T = 2year

- - 7006 % 5
106/

Amount at end of 1% year = 7000 + 350

= 350

N7350

2 year
Principal is now 7350

735045
lz= TQZ/ =

Amount at end of 2" year= 7350 + 367.5

367.5

N7717.5

SAmount = R771T7.5

5. The population of a city increases by 3% each year. Three years ago the population was
445,000. What is the population now?

A.472,100.5
B.14,163.015
C.13,750 5
D. 515.0

E. 486,264
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The corect Answer is Option [E]

Solution
P= 445000, R= 3% T =3 years.
3years ago population= 445,000
2year ago it increased hy 3%

44500043
100/

So the population 2 years ago was
445,000 + 13,350 = 458,350

=13,350

ly=

A vear ago it increased again by 3%
45835043
100/

So the population ayear agowas
458,350 + 13,7505 =4721005

=13,750.5

Presently, the population has increased again by 3%

_ 4721005 x3
100

The population of that city

4721005+ 14,163.015

= 486,263.515

But since population cannot be in decimal
7~ 486,264

=14,163.015

6. Solve the inequality - X > -3.
A X<3

B.O<-X<-3

C.-3<X>0

D.X>3

E.-3<3X<3

The caorrect answeris option [A]
Solution

K =-3 dividing through by —1 will change the inequality sign to
X <3

7. Mr. Bon borrows ®185, 000 at 6% compound interest. He pays back 45, 000 at the end
of each year. How much does he still owe after he has made his third payment?

A.N151,100
B. N¥115, 166
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C.N122,076
D.N77,076
E.N77,706

The correct Answeer i= Option [D]
Solution
P=N1S5 000 R= 6%, T= 3 years.

1850006

Iy = W//-— = 11,100

24 the end of 17 wear he ovwes
ASS000 + 11,100 = 195,100
And he pays 95000
S-He owwes 195,100 — 45,000
= 151 100

2™ vear
Principal = ##151, 100

15116865 <6

=9.056

He will be owing 151,100 + 9,065
=180 165

He pays 95000

s-He ocwwes 160,166 — 45,000
=115.166

F? year
Principal= 115165

115166 =<6

= 500296
100

He willbe owing 115,166 + 65.910

=12z2.076

He pays 95 000
~He cwes 122,076 - 95,000

N77, 075

8. A trader makes a gain of 5% when he sells a car for 8336, O0O. If he sells it for 8307, 200,

what is his gain or loss percent?
A. 4% loss
B. 4% gain
C. 6% loss
D. 6% gain
E. 5% loss

The cormred answer is option [B]
B336, 000 includes a 5% gain
105% of cost price = R336, 000

1% of cost price = H7336‘000

105
100%0 Of cost price = M—3316(())<00 ¥ 100
Cost price = M320, 000
Second selling price = &307, 200
Loss =&320, 000 — &307, 000

=812, 800

5

Loss %o 12800 x 100%

320.000

_ 128

T 32

= 4%

He makes a 4% loss when he sells for M307, 200
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9. How much does a goat cost if a cow costs seven times as much as a goat. For §84, 000, |
can buy 18 more goats than cows.

A. Goat = 4, 000, cow =28, 000
B. Goat = 4, 400, cow = 28, 800
C. Goat =4, 700, cow = 28, 700
D. Goat = 4, 050, cow = 28, 050
E. Goat = 4, 500, cow = 28, 500

The comred answer is option [A]

Solution
Letthe cost ofa goat be bkt h
Thus the cost of a cow = &7h
Forid 84, 000, | can buy — goats
Also, & 84, 000 can buy 84’900 COWS

From the second statemerrt'in the question, we can deduce

84,000 84000
h 7h
Multiply through by 7h
7(84,000) — 84, 000 = 7h {18)
588,000 — 84, 000 = 126h
504, 000 = 126h

5
h= AN =k 4, 000

18

-~

.. Cost of goat =N 4, 000
Cost of cow =4, 000 7 =8 28, 000

10. Find the compound interest 840, OO0 for 2 years at 6% per annum.
A.N4, 950
B. N4, 944
C.N4,775
D. N4, 650
E. N4, 494
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Solution

First wear

P=90000, R=6, T=2vyears

40.000

hh= = NZ900

10 /

Amount at end of first yvear
= 40,000 + 2300

=42, 900

Second year

Princip al is noww 42,900

2 400546
B = 254949
10

Amount at end of 2™ year

=42,900 + 2593

= N44g, 9449

S.Compound interest= 44,944 — 40,000

= Hg, 999

Mathematics Exam Questions and Answers Pack

11. The present cost of a chair and table is }¥4,800. If the rate of inflation for the next two
years are 25% and 15% respectively. Find the cost of buying the same kind of chair and table
in 2 year’s time.

A. N 6,900
B. X900
C.N1200
D. ¥4,800
E. N9 690
The correct Answer is Option [A]
Solution
P=4800 Ri=25 Rx2=15 T= 2vyears
48004 25
ly= —————— =1200
10§/
At the end of 1°'year the chair and table will
cost 4800 + 1200
= 6000
2 years
P = 6000

_ 6000715
= 100

=900

At the end of 2" yearthe chair and table

will cost 6000 + 900

= NB900
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12. Convert 4 days 10 hours to hours.
A. 86

B. 96

C.100

D. 106

E. 108

The correct answer is option [D]
Solution.
24 hours = 1 day
S4 days =24 x4 =96 hours
96 +10 =106 hours

13. Mr Sado spent 30% of his salary on rentage, 20% on food, 10% on children school fees
and the remainder on entertainment. If his entertainment and school fees cost ¥600,000,
what is his salary?

A.N1200,000
B. ¥1,000,000
C. 82,000,000
D.¥2,400,000
E. ¥1,600,000
The correct answer is option [A].
Solution.
Let the man's salary be Nx
He spent 30% of his salary on restaged i.e.
30/100 x x = RO.3x
He spent 20% of his salary on food i.e.
20/100 x x = ¥0O.2x
He spent 10% on children's school fees
10/100 x x = NO.1x
The remainder on entertainment = ¥(x - (0.3x + 0.2x + O.1x)
The remainder on entertainment = ¥(x - 0.6x) = ¥0.4x

If his entertainment and school fees cost ¥600,000
Then 0.4x + O.1x = 600000

0.5x = 600000

x =600000/0.5 = ¥1,200,000
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14. If Ibiba saves $650 at 4% compound interest and adds $150 to the amount at the end of
each year. What is the total savings after 4 years?

A. $826

B. $247.38

C. $1397.38

D. $47.976064
E. 86,100

The correct Answer is Option [C]
Solution
Principal = $550, R = 4%, T = dyear

1 'year
6504/
100"

=

I = 26

Amount at end of 1“3rear =650+ 26+ 150

= $S26
2" year
Princip al is now $826

20x4 /S

b —— = 3304
106~
235
Amount at end of 2™ vear= 526 + 33.04+ 150
=$10092.04

o
vear
Princip al = $1009.04

1009.04 <4 /

Iz = 90.36516
100"
2s

Amount at end of 2 vear=1009.04 + 40.Z516 + 150

=$1192 4016
4" year

Princip al = $1199.4016

1199.4016 <4
la= = 47 97 G064

100

~Amount at end of 4" wear
= 1199.9016 +47 976054 + 150
=1297.37766

SAmount= $12087.38
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15. Boma saves 5000 at 41/2% compound interest. She adds ¥800 to her amount at the

end of each year. Find her total savings after 2 years.
A. N6, 025

B. N800

C.N271125

D.N7,100

E. N6, 100

The correct Answer i Option [D]

Solution
P= NSOOO, R = 4'5%, T= 2years

5000 x 4.5
=225
100

At the end of year1 she has
000+ 225+ 200=6,025

2years
Principal is now &G, 025

6025x4.5
b= = 271.125

100

At the end of 2™ yvearshe has
G025+ 271,125+ 200
= 7086, 125

A2 W7, 100

16. Two traders, Peter and John each started with the same number of apples. Peter found
that 2 of his apples were bad and sold the rest for a total of ¥700. John found that 11 of his
apples were bad; he sold the rest for N60O. If their average selling prices per mango were

the same, how many apples did each have to start with?
A. 67

B. 69

C. 7

D.65

E. 55
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The comrect Answer is Option [D]

Solution

Let the number of apples they both starte
Let their average selling price =y

For Peter
K=2y=700

For John
< —11)y = 600

Sowe have

Ky —2¥=T00....cceuee...... %))
My —11y =600 ............... (2

From equation (1) solve for X intemms of y.

Xy —2¢y =700
Xy =700 + 2y
Divide through by v

X _700+2y

4 4

L 700+2y
¥

Substitute for X in equation (2)

[700+2.y}/
= |2 11y =600
—F

700 +2y — 11y = 600
700 — 9y = 600
Take like temrms
700 —600= 9y
9y = 100 divide through by 9

100
sy= —— =11.11

Substituting for v in equation (1)
X111 —-2{11.11) =700

1. 11X —=22.22=700
Take like tenmns

111X =700 +22.22

M. 1MX=72222
Divide through by 11.11

722.22
K=———— = 65.006

Page 153 of 266

Author: www.teststreams.com



Mathematics Exam Questions and Answers Pack

TOPIC: FACTORISATION

DIRECTION: Choose the correct answer from the lettered options.

1. Factorise the following (2x - 5y)? + by - 2x.
A (2x - By) (2x - by - 1)

B. (2x - By) (2x - by - 2)

C.(2x-by) (2x-y - D)

D.(x-9y) (2x-by - 1)

E. (2x - by) (2x- by + 1)

The comrect answeris option [A]
Solution
P e VA L N VM ol 7 o (A 8 ke LY ) 1Y Y g
Sy - 2x can be written as;
-2x + 5y which is the same thing as
-1(2x -5y)
YWye have
(2x -5y)(2x -5y)—1(2x - By)
Common factoris (2x - 5y)
2x -5y (2x -5y—1)
(2x -5y)(2x -5y—1)

2. Evaluate _—)a =-7
A5

B.-5

C.-9

D. 14

E.-14

The correct Answer is Option [D]
Solution

T
2

-

Multiply both sides by _Tl

) 3 -2
- x_a=..7x_"
1 2 1
a=14
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3. Factorise the following quadratic expression: b? - 49.
A (b-7)(b-7)

B. (b -1) (b - 49)

C.(b+7)(b-7)

D.(b+1)(b+7)

E.(b-1)(b+7)

The correct Answer is Option [C]

Solution
b? — 49 = b2 — 72 difference of two squares
b2-T2=(b+T7){b-T7)

4. Simplify x -y +x-y+x-vy.
A 3(x+y)
B.3(y-vy)
C.3(x-vy)
D. 2x + 2y
E. 2x - 3y

The correct answer is option [C]

5.1f ABis 2/3 PQ, and AB = 4, find PQ.
A 4
B.12
C.6
D.8
E.10

The comredt answer is option [C]
Solution

AB =24 PQ

3
4=2/PQ
Multiply both sides by 3

12 =2PQ

Page 155 of 266 Author: www.teststreams.com



Mathematics Exam Questions and Answers Pack

6. Simplify by factorizing 13 * 60 - 49 " 13.
A. 134
B. 143
C. 205
D. 107
E. 179
The correct Answer is Option [B]
Solution
13 %60 -49 x13
13 (B0 - 49)
13(11)
=143.
7. Simplify x°.
A O
B.1
C. -1
D.2
E.-2
The correct answer is option [B]

Anything raised to the power of zero (o) is equal to 1.

8. Factorise (3a - 4b) (b + c) - 3a + 4b.
A. (3a + 4b)(b + c +1)

B. (4b - 3a)(b + c +1)
C.(3a-4b)(b+c-1)

D.(2a + 5b)(b - ¢ +1)

E.- (3a+4b)(b +c +1)

The correct Answer is Optian [C]
Solution
(3a—4b)b +c)-1(3a - 4b)
3a-4bis a common factor
={3a—-4b) [(b +c) - 1]
={3a-4b)b+c-1)

Page 156 of 266 Author: www.teststreams.com



Mathematics Exam Questions and Answers Pack

9. Factorise the expression R?- r? hence find the value of the expression when =

2/, R=10and r = 4.

A. 246
B. 264
C. 327
D.144
E. 302
The correct Answer is Option [B]
Solution
TR _Ih?
IR —r™)
when f=¥, R=10,r=4
22 2
— (107 —4%)
22
= (100 — 16)
12
22
},[-Sd'f
=22x 12
= 264

10. Factorise 16b? - 1.
A (16b +1)(b - 1)
B.(4b +1)(4b - 1)
C.(4b-1)(4b - 1)
D. (2b - 1)(8b + 1)
E. (2b-1)(8b-1)
The correct answer is option [B]
Solution.
16b% - 1
difference of two square
4% -1
={4b +1)(db - 1)
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11. Factorise the following by grouping in pairs: Xp + 3yp + 3yq + Xg.
A.(3y - X) (9 + p)
B. (X+3y) (p+aq)
C.(X+by) (3p +aq)
D.(r+3y) (p-q)
E. (3X+y) (p +2q)
The carrect Answer is Option [B]
Solution
Ap +3yp +3yg + X
p(X +3y) +g(3y +X)
(X +3y)(p +q)

12. Factorise the following quadratic expression: r2 + 2r - 15.
A (r+5)(r-23)

B.(r-5)(r+3)

C.(r-5)(r-3)

D.(r+1) (r-5)

E.(r+1)(r+5)

The comredt Answer is Option [A]

Solution

1 Pordr=r ME )
7 15 ={a)=-15x 1, (b)-5x 3, (c)15x -1, {d)5x -3
3" sum of factors to give +2
55-3=+2
R+ r—15=(r+5)(r=3)

13. Factorise p (2x - 7y) - 3k (2x - 7y).
A. (x - 14y) (2p - 2k)

B. (2x - 7y) (p - 3k)

C.(2x - 7y) (p - 2k)

D. (4x2 - 49y) (p - 3k)

E. (2x - 7y) (p + 3k)
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The comredt Answer is Option [B]
Solution

Commontemm is (2x - 7y)
2x -7yip—3K)

(2x -7y} (p—3k)

14. Solve the quadratic equation g2 - 10g + 21=0.
A.g=-8andqg=7

B.g=-3and q=-7

C.g=4andqg=-7

D.g=3andqg=7

E.g=4andq=7

The correct Answer is Option [D]
Solution
o —10q+21=0
G -3q-7q+21=0
@’ =3q)-(7q-21)=0
q@=-3)-7(q-3)=0
@-3)9q-7=0
g=3andq=7

15. Find the HCF of 18, 24 and 42.
A 2
B.6
C.8
D. 12
E. 16

The correct answeris option [B]
Solution
18=2x3 %3
24 =2 x2 %2 %3
42=2 %3 %7
HCF=2x3 =6
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16. Factorise the expression R?- r. Hence find the value of the expression when =
2/, R=7andr=7.

A. 116
B. 132
C.148
D. 164
E. 146

The correct Answer is Option [B]
Eolution

HRZ- Ay
Common factor is E
IR2-1)

Subtracting for the value

§(72-7) = §x(49-?)=§x42=22x6=132
7 7 7

17. Simplify (+5) - (+3).
A -2
B.+2
C.-8
D.+8
E.-4

The correct answer is option [B]

18. Simplify 22/,
A 5X/2y
B. 4)(/3y
C.%/3y
D. 5X/ay

E. 2X/5y
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The correct answeris option [C]
Solution

2x2y_ Ixxxxxy 2x

3xy2_ 3xxxypxy 3y

19. Multiply 3.07 by 100,000.
A.3.07 x10°®

B. 3.7 x 104

C.3.07 x10°

D.3.07 x10™

E.3.0 x10*

The correct answeris option [C]
Solution

3.07 by 100000
3.07 %100 000
3.07 x10°

20. Simplify (-5) x (O).
A.O

B.5

C.-5

D.10

E.6

The correct answer is option [A]

21. Solve the equation X? + 14X = -49.
A X=-7,X=-7

B.X=14,X=-7

C.X=7,X=-14

D.X=7,X=-4

E.X=7,X=7
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The correct Answer is Option [A]

Solution
X2+ 14X =-49
X +14+49=0

XZ+7X +7X+49=0
X2 +7X)+(TX+49)=0
X+7)(X+7)=0
X=-Tand X =-7

X =-7.X=:7

22. Simplify (7X - 2y) - (6X - 4y).
A. X - By

B. 13X + By

C.X+2y

D. 13X + 2y

E.y-3X

The correct answer is option [C]
Solution.

(7X - 2y) - (BX — 4y)

Open the bracket

TR =2y —-BX +4y

Take like terms

TR —BX =2y +4y

K+ 2y

23. Expand the equation (p + q) (r + s).
A.pg+ps+qr+gs
B.pr+ps+qgp+aqgs
C.pr+ps+qr+gs
D.pr+qgr+rs+sp

E.pr-ps-qgr-gs

The correct Answer is Option [C]
Solution

(P +q)(r+s)
=pr+ps+qr+qs

24. Factorise the following by grouping in pairs: bX + by + 4aX + 4ay.
A. (X-y) (b +4a)
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B. (3X +y) (-b + 4a)
C.(b-4a)(X-y)
D. (X +2y) (a - 4b)
E.(X+vy)(b+4a)
The carrect Answer is Option [E]
Solution
bX +by +4aX +4ay

b{(X + y) +da(X+y)
X +y) (b +4a)

25. Solve the quadratic equation g - 17q + 70 = O.
A.q=-10,q=-7

B.g=7,9=10

C.g=-3,9=-4

D.gq=-3,9=4

E.g=7,9=-10

26. Factorise 9xy and 24ab.

A.6

B.O

C.2

D.3

E.4

The comrecdt answer is option [D]

Solution
Qxy = 3X3IXXXY
24abh = 2x2x2x3xaxb

— R

27. Factorise the following by grouping in pairs: 4m -1+ 12m? - 3m.
A (4m +1)(1-3m)

B.(4m - 1) (3 +m)

C.(m-4)(1-3m)

D.(4m-1) (1+ 3m)
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E.(2m-1) (1+ 3m)
The correct Answer is Option [D]
Solution
4m =1 +12m -3m
1(4m —1) +3m (4m -1}
dm =101 +3m)

28. Factorise completely 2y? - 18.
A.2(y +3) (y - 6)
B.2(y +3) (y - 3)
C.2(y-3)(y-3)
D.2(y +6) (y - 3)

The carrect answer is option [B]
Solution
y -18

2 y —9
= dlfference of two square

) ( D
(xf 3)(y+3)
S2v =18 =2(y+3(y-3)

29. Factorise X? - 7X + 12.
A (X-3)(X-4)
B.(X+3) (X-4)
C.(X-3) (X+4)
D.(X+3)(X+4)
E.(X+3)(X-3)

The comecdt answer is option [A]
Solution
X—TX+12
X —3X—-4X+12
AK=3)4 {(X-3)
(X —3)X-4)

30. Factorise the following quadratic expression: 16a2 - 25b?
A. (4a + bb) (4a + bb)
B. (4a - 5b) (4a - 5b)
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C. (4a + 5b) (4a - Bb)

D. (8a + 5b) (8a + 5b)

E. (4a - bb) (4a + bb)
The correct Answer is Option [C]

Solution
B = 4% ={4af
B = 5ME=(%hf
1Ba2-25F = (daf-(5bf difference of two squares

- 16af - 250 = (4a + 5b) (4a - 5h)

31. Factorise b? (5b - 3a) - 3b®.
A.ab(2 - 3)

B.b (2b - 3a)

C.b®(2 - 3a)

D. b? (2b - 3a)

E. b?(2b + 3a)

The comedt Answer is Option [D]
Solution
Open the bracket
5h = 3ab? —3b°
Take like terms
Hb% = 3b% —ah®
2b® - 3ab?
Common factoris b
b? (2b — 3a)

32. Simplify 3a + 2(a + 2b).
A.ba + 3ab + 4b

B.5a - 3ab - 4b
C.ba+4b

D.%5a-4b

E.4a + 5b
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The correct Answer is Option [C]
Solution
3a+2(a+2b)
=3a+2a+4b
=5a+4b

33. Factorise the following quadratic expression: (rs? - t2).
A. (rs +t) (rs-t)
B.(rt-1) (rs-1)
C.(rs-t) (rs-1t)
D.(rt+1t)(rs+1t)
E.(rs+1)(rt+5s)

The comed Answer is Option [A]
Solution

rPs? = e — )
Difference of two square

(rs +t)rs —t)

34. Factorise 3a +1- 3ab - b by grouping.
A (a+3)(1-b)
B.(3a+1)(1-Db)
C.(3a+1)(b-1)
D.(a-b)(3+1)
E.(3a+1)(1+b)

The comred Answer is Option [B]
Solution
Dividing into 2
Ja+1&-3ab-b
3a + 1 can't change
3ab—-b=-b{3a+1)
Putting them together, we have
Ja+1-b{3a+1)
Common factoris 3a + 1

=(3a+1){1-b)
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35. Factorise (4u - 3v) (5m - 4n) - (4u - 3v) (3m + 2n).
A. (4u - 3v) (2m - 2n)

B. (4u - 3v) (2v - 4u)

C. (4u - 3v) (6m - 2m)

D. (4u - 3v) (2m - 6n)

E. (4u + 3v) (2m + 6n)

The correct Answer is Option [D]
Solution
On the two side of the equation we a common term

4u—3v sowe have

4u—3v (5Bm —4n - (3m +2n))

4u —3v (Bm — 4n — 3m - 2n) take like terms
4u—-3v (5m - 3m —4n - 2n)

4u - 3v (2m —Bn)

{4u - 3v) (2m - Bn)

36. Factorise the following quadratic expressions: x? + 13x + 22.
A(x-2)(x-11)

B.(x-2) (x+11)

C.(x+2)(x+1)

D.(2x+2) (x+11)

E.(x+2)(x-11)

The correct Answer is Option [C]

Solution

Step | The first temm is X = X x X
So we have (X) (X)

Step Il The lastterm is 22 =22 1; 11x 2,
2% 1, -1 x=2

So we have

(X+ 220X+ Nor (X+ 11 (X+12) or
(K=22X =N or (X=11){X=2)

Step I The coefficient ofthe middle term is +13 so the sum of the last terms
must give +13

Thus

R 3K+ 22 = (X +11) (X+2)

Or

(K+2)04+11)

The arrangement doesn't matter.
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37. Expand (x - 4)2.
A x2+8x-16
B.x?-8x-16
C.x2-8x+16
D.x?+8x + 16
E.x?-16x + 16

The correct Answer is Option [C]
Solution
X —4)’= (x—4)(x—4)
X(x—4)-4 (x—-4)
X° —4x —4x +16
X' —8x +16

38. Simplify (-2) (1'/2).
A -1
B.-2
C.-3
D.2
E.3

The Correct answer is option [C]
Solution.
(-2) x (1%)
1% =3
Doxite=ag
2
39. Simplify Vs + /3 +1/3+ /s
A1/
B.1/2
C.4/;
D.%/4

E.13%/4
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The correct answer is option [A]

Solution
AR A AN
LC M

1+1+1+1
’“’3'_+=%=1%

40. Simplify 22 5° 3,
A 6

B.8

C.10

D.12

E. 14
The correct answeris option [D]
Solution

22 x5° x3'

4x1x3=12
any number raised to the power 0 =1

41. State the additive inverse of -31.
A. 31

B.O

C.-31

D. /a1

E. 51/

The correct answer is option [A]
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TOPIC: FORMULAE: SUBSTITUTION, CHANGE OF SUBJECT

DIRECTION: Choose the correct answer from the lettered options.

1. The angle of elevation of the top of a building is 35° from a point 70m away on level
ground. Calculate the height of the building. Tan 35° = 0.7002. Correct to 2 significant figure.

A.49m
B.70m
C.490m
D. 49m
E. 49cm

The correct Answer is Option [D]
Solution

Tan 6= FPOE -

Adjacent
Tan 359 = Xfm
Cross multiplying
X =70 xtan 35"
=70x0.7002
2 X=49.014
=49m

2. Make n the subject of the equation "/, =

A.™/,
B.™P/q
C.PYm

D. 9/ pm
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E.P"/q

The correct answer is option [A]
m_p

e o
mg = np

r|=m_ql

r
3. Solve the equation 2~ 3/2= 6.
A. 12
B.17
C.-15
D.-12
E. 15

The correct Answer is Option [E]
Solution
Multiply both sides by 2

zx(a’fj =6x2

a=3:=12 add 3 to both sides

a-3+3=12+3

b= R )

4. Solve for p if CJ’/5|o+1 = 1/3p - 4.
A.33%/4
B.4%/4
C.3"4
D.4"/4

E.4/,
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The comect Answer is Option [C]

Solution
LCM = 5p+ 1) (3p — &), multiply through by LCM

3 1
(B 1330 — 4) x = (5p + 1) (I—=4T

33Cp ) = Sp+1
9p—-12 = S5p+1
Take like tenns

9p—-5p = 1+12

4p =13 dwidethrough by 4

13
sp= —

5. Make v the subject of the formula, given S = 1/2vt2,
A V=22

B.V =/5st?

C.V=2s%/;

D.V = 2st?

E.V =2/

[The correct Answer is Option [E]
Solution
S=1v2 multiply both sides by 2

S=1w divide both sides by t?

6. Given A = 1/2 X(Y + L), express L in terms of A, X and Y.

A2/x-A
B. %/a-Y
C.2/x-Y
D.%/2a - Y
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E.A/x -2Y

The correct answer is option [C]
Solution

A= % XY + L)
Multiply both sides by 2

2A =Y + L)
Divide both sides by X

2A
S e L I
. €
Subtract ¥ from both sides
2A
— -¥=L
.4
2
R B
X

Mathematics Exam Questions and Answers Pack

7. Make Cos B the subject of the formula from the equation b? = a? + c? - 2ac Cos B
and hence, find Bin °when a =5cm, C =3cm and b = 4cm.

A Cos B = 326202/, . 53130
B.Cos B = 3270202/, . 53170
C.Cos B =232°12/5,.2 50.13°
D.Cos B = 32%¢20 /1,2, 49.13°

E.Cos B = 8"¢2P2/,.2. 53130

The carrect Answer is Option [A]
Solution
It =a? +c? —2ac Cos B
2ac Cos B =a’ +c?—h?
& +e’=b
2

ja ==
S [5 +3’-4J
A3

25+ 09— 16)

CosB =

B =cos

B=rcos [18]
30

B=cos'06

B=5313"
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8. The curved surface area A of a cone of height h and base radius ris r [h? +r2].
Make h the subject of the formula and find the height of a cone of area 550cm? and

base radius 7cm, taking to be 22/5.

A. 2
. G
(nr)z r=, 25cm

The correct Answer s Option [D]
Solution

IIrfih* + 13 divide both sides by JT7

A =
2 1)
IT
J Square both sides
2
(_i] = h? oyl
Iir
2
.'I’I2 + f'2 — _A Tace square root of both sides
I
2
h A e
g

Substituting the values

A/025-49

= 1576 ~h=24em
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9. A table costs five times as much as a chair. For 820, O00 a trader can buy 20 more chairs
than table. Find the cost of a chair.

A. 280

B. X800

C.N28

D. 82100
E. N210

The comect Answer is Option [B]
Let the cost of achair=p
Cost of atable = Sp
For 20,000

20,000 .
wWwe have ——  chairs
xr
20000
And ————— table
S
20000 20.000
Thus, - = =20
F=4 S
rultiply through by Sp
20000 20.000
- Sp XF = 200X Sp
F=rel S5p T
100,000 — 20,000 = 100p
20,000 = 100p drride through by 100
8B0.000~
Lp= = 200
100
Cost of a chair = 200

10. Make K the subject of the equation D = /3 MK2.
A K2 =30/,

B.K=M/3p

C.K=3DM

D.K= M/3p

EEK= 3P/y

The carrect answer is option [E]
Solution
D=4 MK?
ga MK
3

Cross multiply

3D = MK?

Divide through with h
2 = K2

piog

Square both sides

K= 2
JM
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11. Make n the subject of the equation ™/n = P/,
An="P/,
B.n="/pq
C.n=P/mq
D.n="m9/

E.n:pq/m

The correct answer is option [D]
Solution
m_2

n g
cross multiply
np = mgy
divide through with p

12. Make t the subject of the formula, given V = u + at?

A u+at?-u
B. U~v/,
c. Wy,
D.V"Y/a
EV ™Y a

The comredt answer is option [C]
Solution
V =iaats
Subtract u from both sides
(VR B B - | e B

R
Divide both sides by a
i =5
Take the square root of both sides
f=alliiy =
E=aP=y
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13. Simplify a’-b’

a+b
Aa+b
B. a2 - b?
C.a’+b
D.a-b
E.a?-b
The correct answer is option [D]
Solution
a-b & (a+b)a-b) B
a+b [a+5)

14. Solve the equation 4s = 38 +% +3s —%

33
A 295

33
B. o5

C. 2%3
D. —2%3
E — %5

The comred answer is option [B]

Solution
LCM = 14 so multiply each side by 14
2
Ss+l 3s-5
45 x 14 = x1#% x1
(57 Jars (357 por
565 = 2(55+ 1)+ 7(3s -5)

56s =105+ 2+ 215 -35
Take like terms
565 —105s-215=2-35
255 =-33
Divide both sides by 25

=5 :—3%5 or '18)"25
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15. Make X the subject of formula if V =*"/x.
A V/ Ry

B."/vr

C.R/wy

D. "R/y

E. VY/R

The correct answeris option [D]
Soldtion

Vo= E

R
Cross multiply
XY¥=VR

}{:Q
¥

16. Make r the subject of the formula Vv ='/3 r2h.
A [3V/mn]

B.'/3 h

c.® Vh

D.(°*V/ n)

E. [°/vn]

The correct Answer is Option [A]
Solution

v=_Trh
Multiply both sides by 3
3V=1rh

Divide both sides by ITh
r’=3Y

W=

Take the square root of both sides

r=_?£_
\‘ﬁ
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17. The wage, a dollar for a person who works b hours of overtime is given by the formula a =
100b + 6900. Make b the subject of this formula and hence find the number of hours of
overtime worked by someone whose total wage is $9400.

A. 250 hours
B. 25 hours

C. 2 hours 5 minutes

D. 2500 hours

E. 2 hours 12 minutes

The correct Answer is Option [B]

Solution

a = 100b + 6900

Subtract 6300 from both sides

make Vv the subject. IfF P =3, mz =30, m4, = 3, find v in cm?

a—6900 = 100b + 6900 — 6900
100b = a— 6900 divide through by 100
b =4 a— 6200
100
If a=%$9400
Then b= 34006900 _ 2500
100 190
» b =25 hours
18 P= M2
v
A. 3.3cm?®
B. 5cm?
C.3cm?
D. 9cm?®
E. 6cm?

The correct Answer is Option [C]

Solution

Take square of both sides

vPE=mz —mi

y=r Pamth
PZ

YWhen P=3, mz=30,my, =3,
_30-3
vi= 5

37
_ 27
V=

9
v =3cm®
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19. Solve forbif /7=, 3.

A7
B.3
C.-10
D.-3
E.10
The comrect Answer is Option [E]
Solution
LCKM is 7(b-3) multiply both sides by LCM
?(D-B)Ké = = 3 ® 7 (B-3)
h—3)=1x7
b—-3 =7 add 3 both sides

b—3+3=7+3

b=10

Mathematics Exam Questions and Answers Pack

20. A man is 5 years older than his wife. Four years ago the ratio of their ages was 7:6. Find

the man's present age.
A.-29

B.-53

C.29

D. 34

E. 24

The comred Answer is Option [D]
Solution

Let the age of the man be a, his wife will be a — 5, 4 years agothe manwas a—4

and the woman (a— 5)4 =a—-9.
The ratio of their age was %

So we have

a=4_7
-9 o

2

hultiply both sides by the Lem 6{a — 9)

Bla— 4) T(a—9)

6a - 24 = Ta-—-63

Take like terms

B6a— 7a=-63+24

-a=-39

Divide through by —

c.a =239, the wife's age is 39- 5 =34
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21. Find the value of y® -y, if y = -2.
A b

B.-6

C.20

D.8

E.6

The correct answer is option [B]
Solution
Y -y=(2°-(2
=-8+2=-8
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TOPIC: GENERAL ARITHMETIC

DIRECTION: Choose the correct answer from the lettered options.

1. Write down the prime numbers between 1 and 10.
A 2,3 5and7

B.1,3,4,5and 9

C.2,35,6,7and 9

D.2,4,6,and 8

E.1,3,5and 7
The correct answeris option [A]

Solution
2,3 5and?

2. Obi, Kunle and Tom share some money. Obi gets %1 of the money. Kunle gets %2 of the

remainder. What fraction of the money does Tom get?
4

A Y

B. 9

)
C. )

2
D. 33

E. 99

The correct answeris option [C]
Solution

Obi gets 5/(1 of the money
i =1.35
The remainder =1 /{1

11-5 _
i1 =
Kunle gets 7 of %
U2 x 1= %,

Obi and Kunle gets

10+7 17
K+ = 2; o

22
Tom gets 1 - ot
22 22
=2
22
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3. Translate the code below: (13,1,20,8,5,13,1,20,9,3,19).

A. MATHEMATICS
B. MARKERS
C. MACHINE
D. MATTERS

E. NIGERIA

The correct answeris option [A]

Solution
MATHEMATICS
Each of the figures represents the corresponding alphabet p ut themtogether and

form the words

A |B |C [D |E |F G |H ]I J K |JL [M N |JO [P
1 12 |3 [4 |5 |6 7 8 |9 [10 11 12 (13 14 |15 |16
Q@ |R S [T |U [V WX |Y [Z
17 118 119 120 {21 [22 23 |24 {25 |26

4. There are 180 boys in a mixed school. If the ratio of boys to girls is 3:4, what is the total
number of students?

A. 420

B. 520

C.620

D. 720

E. 360

The comect answer is option [A]
Solution
Ratio of hoys to girls is 34 = 3+4 =7
And we have 180 boys in a mixed school
Let the total number of students be X

S0 that
3 %X = 180
34 =180 [crass multply)

ax =7x180

oy = Tx180

=420
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5.1f 26 - X = X is a true sentence, the value of X is

A. 8
B.16
C.13
D. M
E. 10
The correct answer is option [C]
Solution
2B-X=X
take like terms
2B6=X+X
24 =26 divide through by 2
ax=2 13
2

6. What is a prime number?

A. A prime number is a number that can only be divided by itself

B. A prime number is a number that is a multiple of itself

C. A prime number is a number that has only two factors, itself and 1

D. A prime number is a number that can only be divided by 2 with remainder
E. A prime number is a number that can only be divided by 2

The correct answer is option [C]

)
iy 2257305

A Y,
5. 5/
c. ¥
.5
e 3
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The correct answer is option [B]

Solution

Change all to simple fraction

24

o we have

%/2= B4 x 3 124/

8. Simplify - 3 - 8 + 5.
A. -6

B. -1

C.-2

D.0O

E.6

The carrect answer is option [A]

Solution
-3-8=-(3+8)=-11
-11+50r5-11=-b

9. Find 80% of ¥6.48.

A R4T77
B. N6.86
C.N259
D.N7.19
E. Nb.18
The correct answer is option [E]
Solution
3.24
8}2{ SEAS 255.92
5
=N5.184

..80% of ME6.48 =M5.18

Mathematics Exam Questions and Answers Pack
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10. Find the HCF of 18, 24, 42 and 72.

A. 8
B.7
C.4
D.6
E.2
The correct answeris option D]
Solution
18=2x3 x3
24 =2 %2 %2 %3
42=2 x3 %7

72=2 %2 %2 %3 %3
The common prime factors are 2 and 3
S HCF=2 %3 =6

11. In an examination, 154 out of 175 candidates passed. Find the percentage that failed.

A 12%

B. 34%
C.19%
D. 6%
E. 24%
The correct answer is option [A]
Solution
Number of students that failed = 175 - 154 = 21
3 4
Percentage that failed = o 100
5
s
=12%

12. A car travels 72km on 9 liters of petrol. How far will it travel on 13 liters?
A. 8km

B. 50km

C. 85km

D. 104km

E. 1177km
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The correct answer is option [D]
Solution
If 9 litres will travel 72km
1 litre will travel Xkm

S X="2 =8km
9

If 1 litre will travel 8 km
13 litres =8 x 13 = 104km

13. Translate the code below: (20,8,5) (5,24,5,3,21,20,9,22,5) (7,15,22,5,18,14,15,18).

A. THE EXECUTIVE PLONENTS
B. THE EXECUTIVE PRESIDENT
C. THE EXECUTIVE GOVERNOR
D. THE EXCELLENCY

E. EXTINGUISHERS

The correct answeris option [C]
Solution
THE EXECUTIVE GOVERNOR

Each of the figures represents the carresponding alphabet put them

together and form the words

14. Translate the code below: (9) (1, 13) (1) (19, 20, 21, 4, 5, 14, 20).

A |B |C |D [E [F G [H [I J K J|L M N |JO|P
1 (2 |3 |4 [5 [6 7 (8 [9 [10 11 (1213 14 |15 |16
Q [R |S |T |U [V W |X |Y [|Z
17 118 119 120 {21 [22 23 |24 [25 |26

A |B |C |D [E [F G |[H J K |L

M

N

13

14

I
1 12 |3 |4 [5 [6B 7 |8 [9 [10 11 [12
Q [R |S |T |U [V W |X |Y [|Z

17 118 119 120 {21 [22 23 |24 [25 |26

Al AM A SCHOLAR

B.1 AM A STUDENT
C.IAM A SOLDIER

D. | AM SYSTEM ANALYST
E. I SOLDIER
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The correct answeris option [B]

Solution
[AMA STUDENT
Each of the figures represents the corresponding alphabet put them
together and form the words

15. Express the following in meters 13.7km.
A.13,700m

B.1,000m

C. 180km

D. 1,3700km

E.137m

The correct answeris option [A]
Solution
1000m = 1km
if Tkrn=1000m
SA37km =X crass multiply
X=13.7 »1000
=13700m

16. Interpret the graph below to an inequality expression.
I T | 2 : E i ’x
3 =2 ~1 01 233 456 6

A X<2
B.X>2
C.X<2
D.X>2
E.X=-2

The correct answer is option [B]

17. Translate the code below: (14,15,20,8,9,14,7) (9,19) (16,5,18,13,1,14,5,14,20).

A |B |C [D |E |F G |H ]I J K |JL [M N |JO [P
1 12 |3 [4 |5 |6 7 18 |9 [10 11 12 (13 14 |15 |16
Q@ |R S [T |U [V WX |Y [Z
17 118 119 120 {21 [22 23 |24 {25 |26

A. PERMANENT IS NOTHING
B. NO WAY OUT
C. NOTHING IS IMPOSSIBLE
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D. NOTHING IS PERMANENT
E. NONE OF THE ABOVE

The correct answeris option [D]

Solution
NOTHING IS5 PERMANENT
Each of the figures represents the corresponding alp habet put them
together and farm the words

18. Reduce the following fractions to their lowest terms: 12%76

A %1

2
B. 15

C. %1

4
D. 19

E.%

The correct answeris option [A]
Solution
Using prime factors
128 _ 2x64  2x2x32 _ 2x2x2x16 _ IxIxZxZx3

176  2x88 2x2x44 2x2x2x22 FxixExIxll

19. Translate the code below: (6,5,4,5,18,1,12) (7,15,22,5,18,14,13,5,14,20) (15,6) (14,9,7,5,18,9,1).

A |B |C |D [E [F G [H [I J K J|L M N |JO|P
1 (2 |3 |4 [5 [6 7 [8 [9 [10 11 (1213 14 |15 |16
Q [R |S |T |U [V W |X |Y [|Z
17 118 119 120 {21 [22 23 |24 [25 |26

A. FEDERAL GAMES RESERVE

B. FEDERAL GOVERNMENT GIRLS SCHOOL
C. FEDERAL CAPITAL TERRITORY

D. FEDERAL GOVERNMENT OF NIGERIA

E. NONE OF THE ABOVE
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The correct answeris option [D]

Solution
FEDERAL GOVERNMENT OF NIGERIA
Each of the numbers represents the corresponding alphabet p ut them
together and form the words

20. Express b interms of A and h

A bh

o
2

hcm

N
B."/oa
c.™n

D.'/2bh

E. bh

The comred Answer is Option [A]
Solution

hcm
bh

pa|—=

hcm

A =%2bh

Multiply both sides by 2

24 = bh

Divide both sides by h

2A bk

k k
2A

h

b

21. Find the LCM of the following: 7, 8 and 9.
A. 315

B. 605

C. 400

D. 504
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E. 250

The correct answeris option [D]
Solution

7=1x7

8=2x2x2

9=3 x3
SLCM =2 %2 %2 %3 x3 x7 =504

Mathematics Exam Questions and Answers Pack

22. Suppose today is Thursday. What day of the week will it be after 50 days?

A. Monday

B. Saturday

C. Wednesday
D. Thursday

E. Friday

The correct answeris aption [E]
Solution
7 weeks =49 days

50daysis1 day more than7 weeks so it willfall on a Friday.

23. The sum of two numbers is 12 and their difference is - 2. What are the numbers?

A.5and 7
B.Tand 1
C.2and 4
D.5and 9
E.3and 6

The correct answer is option [A]
Solution
Let the two number be a and b

Statement 1,a+hb=12 .........(1
Statement 2, a—h =-2 ...........(2)

From 2 statement
a—-h=-2

a=h-2

substitute for a in equation 1
(b-2)+b=12
b+b-2=12

2h-2=12

take like terms

2h=12+2

2h =14 divide through by 2

h=144=7

substitute for b in equation (1)
a+7=12

a=12—-7=5

~ The numbersare S and 7
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24. Translate the code below: (16,15,18,20) (8,1,18,3,15,21,18,20) (3,9,20,25).

A |B |C [D |E |F G |H ]I J K |JL [M N |JO [P
1 12 |3 [4 |5 |6 7 8 |9 [10 11 12 (13 14 |15 |16
Q@ |R S [T |U [V WX |Y [Z

17 118 119 120 {21 [22 23 |24 {25 |26

A. PATH WAY

B. PART PAYMENT

C. PORKABIN

D. PORT HARCOURT CITY

E. PARKER AVENUE

The correct answeris option [D]
Solution

PORT HARCOURT CITY
Each of the figures represe nts the corresponding alp habet put them
together and form the words

25. Express 72 as products of prime factors.

A2
B.2
C.2
D.2
E.2

2 3 3 3

2 2 3 3
2 2 9

2 2 3 7
3 3 5

The correct answeris option [B]
Solution

72=2 %36 —notprime
=2 %2 %18 - not prime

=2x2 %2 %9 — not prime
=2x2 %2 x3 %3

26. Translate the code below: (10,21,14,9,15,18) (19,5,3,15,14,4,1,18,25) (19,3,8,15,15,12).

A |B |C [D |E |F G |H ]I J K |JL [M N |JO [P
1 12 |3 [4 |5 |6 7 18 |9 [10 11 12 (13 14 |15 |16
Q@ |R S [T |U [V WX |Y [Z
17 118 119 120 {21 [22 23 |24 {25 |26

A. JUNIOR SECONDARY SUBJECTS

B. JUNIOR SECONDARY CURRICULUM

C. JUNIOR SECONDARY TRAINING
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D. JUNIOR SECONDARY APPROACH
E. JUNIOR SECONDARY SCHOOL

The correct answeris option [E]
Solution
JUNIOR SECONDARY SCHOOL

Each of the figures represe nts the corresponding alp habet put them

together and form the words

27. Add the following and give the answer in kg: 681g, 562g and 2.321kg.

A. 12.8kg

B. 1.057kg
C. 3.564kg
D. 4.801kg
E. 2.872kg

The comredt answeris option [C]
Solution
Corwert all gto kg
1000g = 1kg
681
6819 1000 0.681kg
562

-6~
5629 = —— 0.562k
2 1000 ?

- Wehave 0681 + 2.321 + 0.562
=3.564kg

28. Translate the code below: (13,25) (14,1,13,5) (9,19) (16,5,20,5,18).

A |B |C [D|E |F G |H J K |L

i

N

0o |P

I
T E2 1S S IR 16 7 18 |9 10 TEEM2
Y

13

14

15 116

Q@ |R [S [T |U [V W |X Z
17 118 119 120 {21 [22 23 |24 {25 |26

A. MY NAME IS PETER

B. MY NOSE IS TOO BIG

C. MY NAME IS VERY SPECIAL

D. MY NIKE SHOES GOT MISSING TODAY
E. MY NECKLACE IS EXPENSIVE
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The correct answeris option [A]
Solution

MY NAME IS PETER

Each of the numbers represents the corresponding alphabet p ut them
together and form the words

29. Express 3/4 as a percentage.
A. 46%
B. 56%
C.75%
D.76%
E. 86%

The comrect answeris option [C]
Solution

3/, as a percentage
3143 100 = 75%

30. What is LCM?

A. Least Common Multiple

B. Local Control Mathematics
C. Lowest Common Multiple
D. Low Common Multiple

E. Least Control Million

The correct answer is option [C]

31. Harry buys 5 liters can of gear oil and used 800ml. What percentage of the oil is
remaining?

A.15%
B. 84%
C.98%
D. 66%
E. 35%
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The caorrect answeris option [B]
Solution
1000ml= 1L

BUB?BQWP xL  cross multiply
8

=08L

lﬂaﬁ

Percentage of %,«8— x40

=16%
Percentage remaining =100 - 16 =84%

32. Express this fraction as percentage: 9/2s.
A.50%
B.28%
C.17%
D. 36%
E. 18%

The correct answeris option [D]
Solution

4
Vs = S5 wB0=36%

33. What number does the Roman numeral - CCXC represent?

A. 190
B. 180
C. 220
D. 290
E. 390
The correct answeris option [D]
Solution
C=100
XC=90
S.CCXC =200 +90
=290.

34. Add the following and give the answer in Naira 95k, 83k, 27k.
A.N3.25
B.N3.10
C.N2.05
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D. N¥4.05
E. N2.45

The correct answeris option [C]
Solution
95 +83 +27 =205
but 100k = &1
5208
100
=p2.05

35. Find the value of the sum of 28° 22" and 42°37".
A.14° 09’
B. 70° 53'
C.70° 43

D. 68° 35'
E. 70° 33'

The correct Answer is Option [B]
Solution

28°22°
+42°31
70°53
36. How many weeks are there in 504 hours?
A. 24 weeks
B. 21 weeks
C. 11 weeks

D. 8 weeks

E. 3 weeks

The correct answer is option [E]

Solution.
24 hours =1 day

L 21 days
24

7 days=1 week
.. 21 days =3 weeks

37. Simplify the following: 53/4 - 27/+ 1'/2.
A1/4

B.5%/9
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C. 35/7
D. 4%/
E. 22/3

The comredt answer is option [D]

Solution
P-4
LCM =8

23x2 23 3x4 46 23
x X _ +1‘y
4x2 8 2x4 8 8 8

46 -23+12=35

38. How many second are there in 21 hours 54 minute?
A. 78,250 seconds
B. 68,840 seconds
C. 58,740 seconds
D. 78,840 seconds
E. 98,540 seconds

The comrect answer is option [D]

Solution
60 seconds = Tminute
60 minute = 1 hour
-1 hour =60 x 60 = 3600 seconds
If 1 hour = 3600 seconds
o 21 hours = 21 x 3600 = 75 600 seconds
If 1 minute =60 second
=54 minute =54 x 60 = 3,240 second
=271 hours 54 minutes = 75,600 + 3,240
= 78,840 seconds
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39. Find the HCF of the following 126, 234 and 90?
A.18

B. 68

C.90

D. 16

E.3
The correct answeris option [A]

Solution
126=2xB63=2 %7 x9=2x7 x3 x3
234=2xM7=2x9x%x13 =2 x3 %3 x13
90=2x45=2 x5 %x9=2 x5 x3 %3
JHCF=2x3x3=18

40. Add the following and give the answer in Naira ¥9.50, ¥18.75, and ¥3.50.

A.N27.00

B.N31.75

C.N14.00

D. N24.98

E. ¥18.90
The correct answeris option [B]
Solution

950
1875

:

31745

41. Express 0.004076 to 2 significant figures.
A. 0.00408

B. 0.0042

C. 0.0041

D. 0.004

E. 0.0040

The correct answer is option [C]
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42. Suppose today is Thursday. What day of the week will it be after 20 days.
A. Monday

B. Tuesday

C. Wednesday

D. Thursday

E. Friday

The caorrect answeris option [C]
Solution
7 days =1 week
20 days is 1 daylessthan 3 weeks so after 20 days will be Wednesday

43. A boy had below ¥700. His father borrowed 3200 from him. He is therefore now left with
Ny. Write an equation fory.

A Ny>N500
B. Ny = N600
C.NY>N700
D. Ny < N¥500
E. Ny <N 700

44. Give six multiples of the number 6.
A. 6,12, 26, 34, 42

B. 12, 18, 24, 30, 36, 42

C. 6,15, 24, 30, 37, 48

D. 18, 24, 35, 36, 46, 54

E. 12,16, 20, 36, 46, 52

The correct answer is option [B]
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45. The HCF of 42 and 70 is
A9

B.13

C.7

D.10

E. 14

The comrect answer is option [E]
Solution
42 =B6xT=2x3x7
f0:=10xT=2%x5X 7
SHCE=2x7=14

Mathematics Exam Questions and Answers Pack

46. The average age of 4 boys is 12. If three of them are 11, 15 and 14 years old, how old is the

fourth boy?
A9
B.8
C.5
D.2
E. 13

The correct answer is option [B]
Solution
Let the age of the fourth boy be a
S0 we have
11+15+14+a

4
40 +a

=12

40 +a=12 x4
40 +a =48
taking like terms
a=48-40=18

=12 multiply both sides by 4
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TOPIC: GEOMETRY AND MENSURATION

DIRECTION: Choose the correct answer from the lettered options.

1. The area of acircleisgivenas _____ .
A2r

B. r?

C.2 r?

D. r

E. 7r

The correct answer is option [B]

2. Determine the diameter of a circle if its circumference is 44cm?
A.20cm
B. 15cm
C.10cm
D. 14cm

E. 33cm
The correct answer is option [D]
Solution

Circumference of a circle = 27r
But diameter= 2r=d

44 = Ttd
44 #4 2y _
—?=@=44X42—14
d=14cm
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B. 30°
C.90¢°
D. 103°
E.120°
The correct Answer is Option [D]
Solution
41 +u=180° (Angles on a straight line)
u=180°-41°
cu=139"
Butu=t+36" (Alternate angles).
139° =t + 36°
c1=139°-36"
t=103°

Mathematics Exam Questions and Answers Pack

4. Calculate the width of a room of area 112m? and length 14m.

A. 8m
B.7m
C.9m
D. 6m
E.4m
The correct answer is option [A]
Solution
Area=112m? length = 14m
Wy =2
Area=LxW
W= Area i 112m~ =8m
Length 14m

0. A triangle which has all its sides equal is called

A. a scalene triangle

B. an acute triangle

C. an obtuse triangle

D. an equilateral triangle
E. an isosceles triangle

The correct answer is option [D]
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6. The sum of the interior of a polygon is 1,0800. How many sides has the polygon?

A5
B.8
C.6
D.7
E.9

The carrect answer is option [B]
Solution

The sum of the interior angles of a regular polygon = (180n - 360)°
We have

{(180n - 360)° = 1080°

180n = 1080 +360

180n = 1440

divide through by 180

A.52°
B. 38°
C.128°
D. 308°
E. 83°

The correct Answer is Option [A]
Solution

Opposite angles are equal

Since 52° +e =180° (Angles on a straight line)
e=180" -52°

ce=128°

Bute +¢ = 180° (Angles in a straight line)

128° +c =180°

¢=180" - 128"

ce=52°
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8. Express 6km in meters.
A. 6000 m

B.600 m

C.0.06 m

D.60 m

E. 60,000 m

The comrect answeris option [A]
Solution

Bkm in metres

1000m = 1km

-.Bkm = 63 1000 = 6000m

9. A cone has a volume of 120m?® with a height of 12m. Calculate the slant height of the cone.

A 1327 m
B.12.37 m
C. 1723 m
D.21.37 m
E. 1273 m

The correct answer is option [B].
Solution.

Volume of a cone = '/3mtr?h = 120

r2 = 120x3x7/22x12 = 9545

r=v9.545

r=3.09 3m

Calculating the slant height of the cone x
x2 =122 + 32

x = V(122 + 32)

Xx=v(144 +9) =v153=12.37 m

10. A line which divides a circle into two equal halves is called a

A. chord

B. center
C. diameter

D. circumference
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E. radius

The correct answer is option [C]

11. 1 hectogramme =7?
A.1000g

B.100g

C.10g

D.1g

E. O.1g

The correct answer is option [B]

12.

Find v

A.33°
B.53°
C.74°
D. 106°

E. 29°

The correct Answer is Option [B]

Solution
Sum of angles in a triangle is 180o
—74° +u+v=180"
u+v=180"—74°
u+v=106"
But u = v (base angles of an isosceles triangle are equal)
—2v = 106"
Divide both sides by 2

v 106°

2 2
o]

Sv=53
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13. The sum of in a triangle is
A. B60°

B. 180°

C. 360°

D.90°

E. 190°

The correct answer is option [B]

14. An angle which is greater than 90° but less than 180°iscalled ________
A. a reflex

B. an obtuse

C. an acute

D. a right

E. a revolution

The correct answer is option [B]

15. The curved area of a cone is

A rilL

B. rL

C.2 rL?
D.2 r’L
E.2 rL2

The correct answer is option [B]

16. What is the sum of the interior angle of a regular polygon with n sides?
A.(270n - 360)°

B. (180n - 540)°

C.(90n - 360)°
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D.90 (2n-5)°
E. (180n - 360)°

The correct answer is option [E]

17 From the figure dravwn ind a

N
D A
\ 630
aO
/ 350
C B
D
A. 98°
B. 28°
C.82°
D. 27°
E.72°
The correct answeris option [C]
Solution
63 +a +35 =180
a +98 =180

a=180-98 =82°

18.  From the diagram find the value of X

3x X\?X
2%
A. 47
B. 40
C.50
D. 60
E.75
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The correct answer is option [B]
Solution
Sum of angles at a point
x +3x +2x + 3x = 360"
9y = 360
divide through by 9

=360 - 4n

19. A woman fences a 3m by 4m rectangular plot to keep her goats in. The fencing cost ¥110
per meter. How much does it cost to fence the plot?

A.N1,540
B. ¥1,880
C.N1140
D. 82,570
E. 83,650

The comred answer is option [A]
Solution

Perimeter = (L+b)
=2{(3+4)=2(7)=14m

Cost of fencing 14m at 8110 per meter
=14 x 110 =&1,540

20. Findthe angles marked a,b and ¢

74

a b

(g}

A.47°,63° 107 °
B. 53°,53°,127°
C. 38°,38°,142°
D. 65°, 65° 115°
E. 76°, 76°, 104°
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The angle above has two sides equal.
It is an isosceles triangle

~La=sb

The sum of angles in a tiangle = 180°
180-74 =106

Since La=/b = o 537

N

If £b =53 then Lc=180-53
Because angle on = straight line = 180°

S Z£c=180-53=127°

21. Find ainthe diagram below

A
a
A. 30°
B. 40°
C.50¢°
D. 60°
E. 70°
The correct Answer is Option [C]
Solution
Sum of angles on a straight line = 180
a+130 =180

Subtract 130 from both sides
a+130-130=180-130
a+0=50

Ja=50
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TOPIC: NUMBER BASE

DIRECTION: Choose the correct answer from the lettered options.

1. Add 1013, 1012 + 1112
A. 10001,

B. 10100,

C. MO0,

D. 11110,

E. 11101,

The correct Answer is Option [A]
Solution

101;

101;

+111;
10001,

2. Convert 1270 to base 8.
A 177;

B.178s

C. 1765

D.167s

E. 1175

The comed Answer is Option [A]
Solution

5 127 to base 8 =1 77,
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3. Subtract 12134 from 22311,.
A. 210304

B. 20132,

C. 21032,

D. 21132,

E. 21102,

The correct Answer is Option [C]
Solution

223114
-1213,
210324

4. Convert 3040 to base 5.
A.101s

B. 1115

C. 0115

D. 110s

E. OO1s

The correct Answer is Option [D]
Solution

9 |3
5|6
5 |4

0

R Ul kg (o

0
1
1
. 30ypto base 5 = 1105

5. Convert 11223 to base 10.
A. 42+

B. 44

C. 43

D. 450

E. 410

Page 211 of 266 Author: www.teststreams.com



Mathematics Exam Questions and Answers Pack

The correct Answer is Option [B]
Solution

1%33+1x32+2x31+2x30
12T +1x9+2x3+2x1
27+9+6+2

44

6. Convert 13467 to base 7.

A. 5505,
B. 54156,
C. 5415,
D. 54175,
E. 54165,
The correct Answer is Option [B]
Solution
_T7113467

7|1923R 6

7| 274R 5

7| 39R1

7 5R4

0R5 | 54156,

1346710 = 541567

7. Convert 617;to base 10.

A. 30710

B. 30610

C. 305

D. 304

E. 30810

The cormred Answer is Option [E]

Solution

6175 GR T AT T T
Bx49+ 7+ 7 =204+ 14

308,
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8. Multiply 11001, by 110,.
A. 11001011,

B. 10010110,

C. 10001011,

D. 10101011,

E. 10011100,

The correct Answer is Option [B]
Solution
11001;
110;
00000
11001
11001
10010110;

9. Add 1011, and 1101, together.
A. 10000,

B. 11100,

C. 11000,

D. 10001,

E. 10100,

The correct Answer is Option [C]
Solution
1011;
+1101;
11000,

10. Change 11225 to base 10.
A. 40+
B. 3810
C. 42
D. 4810
E. 44
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The comect answeris option [E]

Solution
HM22.="T%3% TR 322503 " F 253"
={13627) 2 (1% 9) £ (2% 3)+ (2%1)

=27+9+6+2
=444
ALTERNATIVELY
11223 =
1 1 2 2
X3 v
3+1
T3
12+
14x3
42x 2 =44
| 1223 = 4410

11. Convert 200+ to base 8.
A 111

B. 101s

C. 310s

D. 1125

E. 3115

The correct Answer is Option [C]
Solution

. 20040 to base 8 = 3103

12. Convert 11000110 to base 10.
A. 20010

B. 19810

C. 197
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D. 1961
E. 195

The correct Answer is Option [B]

Solution

1327 +1%28+0x25+0x2%+0x23+ 122 +1x21 +0x20
1128+ 1364+0x32+0x16+0x8+1xd+1x2+0x1
128+64+0+0+0+4+2+0

19810

13. Convert 971 to base 5.
A. 3425
B. 2345
C. 2425
D. 3415
E. 2435

The correct Answer is Option [A]
Solution

» 9Twtobase 5 = 342,

14. Subtract 10101, from 10111..
A. 10,

B. 11,

C. 101,

D. 100,

E. 12,

The correct Answer is Option [A]
Solution

1
-1
[s]

Qo0
Ola =
0=

1
1
[s] = 102z
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15. Subtract 101, from 1110..
A. 101,

B. 1110,

C. 1001,

D. 1101,

E. 10010,

The correct Answer is Option [C]
Solution

1110;

-101,

1001:

16. Calculate 33105 - 1442s.
A. 13135

B. 21315

C. 43025

D. 11035

E. 31315

The correct answer is option [A]
Solution

3310,

1442,

13134

Corwerting all to base 10 first.
BRI e 5T 5 E D xS
375+ 75 +5+0=455

(I ol B TG T S A e ST S
125+ 100+ 20 + 2 = 24745
455 — 247 = 2084

Corwerting bad<to base 5

208

41R 3
8R1
1R3

O0R1=1313,
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17. Subtract 1001, from 1110,.
A. 110,

B. 111,

C. 101,

D. 010,

E. 102,

The comredt Answer is Option [C]
Solution
1110
1001
101

- 1%t column, 1 from O not possible take the one from adjacert row that wiill
mean 10-1=1

g 2" column 0-0=0

- 3" column1-0=1

- A" column1-1=0

= 1015
OR
Corwert all to base 10
2P+ P+ 12 +0x 2% = 8+4+2+0 = 14
P23+ 0x 22+ 2"+ 13 2% = 8+0+0+1=9

14 -9 =5, back to base 2

18. Find the value of (101,)3.
A. 1100101,

B. 1111101,

C. MMMO,

D. 1111001,

E. 1111111,
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The correct Answer is Option [B]

Solution

First of all convert 101 to base 10
1x2%+0x2"+1x2"

4+0+1

510 2

(210)" = (1284)

Convert back to base 2

125
62R1
31RO
15R1
7R1
3R1
1R1
0R1

2110, =1111107

I\JNNMNM|N

19. Find the square root of 100100..
A. 110,
B. 101,
C. 011,

The correct answer is option [A].
Solution

Corwert 100100, to base 10

1% 25+0x 2%+0x 23+ 1% 22+ 0x 21+ 0x 2°

32+0+0+4+0+0
= 3640

36

10
= Bia

Corwerting back to base 2

- 100100, =110,
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20. Change 128y to base 6.
A. 3236

B. 2336

C. 320s

D. 3326

E. 3216

The correct Answer is Option [D]
Solution
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TOPIC: PROBABILITY

DIRECTION: Choose the correct answer from the lettered options.

brokeneggs | 0 | 1 (2 |3 | 4|5 | 6

number of
boxes

What is the probability that a box chosen at random
has less than two broken eggs in it?

12|7|3|2|1]0(0

A. 22/25
B. 19/25
C. 12/25

D. 7/25
The correct answer is option [B].

Solution.

f i =1
= humber of required OUtcomes/number of possible outcomes — 9/25

2. A man has three white shirts, two blue shirts and five red shirts. He picks one at random.
What is the that it is white?

A.3/10

B.1/5

C.1/72

D.3/9
The correct answer is option [A].

Solution.

f i —
= number of required outcomes/number of possible outcomes — 3/10
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3. In a company of 300 workers, one worker is selected at random to represent the company
in an exhibition. If there are 40 workers in the marketing department, what is the worker
chosen will be a marketer?

A.2/15
B.1/3
C.4/300
D.15/2
E.2/7

The correct answer is option [A]

4. 28.8m of cloth cost N5, 328. Find the cost of 1m of cloth.
A.N180
B. N185
C.N190
D. N195
E.N175

The correct answver is option [B]
Solution
28.8m cost M5, 328

5.328

5. A number is chosen at random from the set of numbers 41, 42.. 55, 56. What is the number
that it is a multiple of 9?

A
B. Y,
c. ¥,
D. ¥

The correct answer is option [A].

Solution. 41, 42, 43, 44, 45, 46, 47, 48, 49, 50, 51, 52, 53, 54, 55, 56

ber of ired out =2 =1
= \oer ot required ou Cor‘nes/number of possible outcomes — /16 - /8
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6. Ibifuro has three friends, one fair, one dark and the other fat. If he goes out with one of
them at random, what is that he went out with the fat one?

A2
B."/3
c.'/
D. 3/
E.3/2

The correct answer is option [B]

7. A box contains 3 red balls and 7 blue balls. If a ball is selected at random, what is the
probability of selecting either red or blue balls?

A1l

B.”/10
C. 3/ 7

D.%/100

E.O
The correct answer is option [A]

Solution.
3red or? blue

Probability of a red = %

Probability of 2 blue = %

Probability of either a red or blue will be
3,7 _10

—=—=1

10 10 10

8. A number is chosen at random from the set of numbers 41, 42, ..., 55, 56. What is the
probability that it is a prime number?

A. 1/8
B."/16

(@4, 1/4
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D.3/16

The correct answer is option [C].

Solution.

41,42, 43, 44, 45, 46, 47, 48, 49, 50, 51,52, 53, 54, 55, 56

= number of required outcomes /  imber of possible outcomes = 416=1/4

9. A fair six-sided die is thrown. Find the possibility of getting an even number.
A.2/3

B."/2

c. /s

D. 1/3

The correct answer is option [B].

Solution.

— number of required outcomes — 3 =]
- 5 /number of possible outcomes — /6 = /2

10. A fair six-sided die is thrown. Find the probability of getting a 3.
A/
B."/3
C.1
D. 1/6
The correct answer is option [D].

Solution. = number of required OUtcomeS/number of possible outcomes = 1/6
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TOPIC: SIMPLE AND COMPOUND INTEREST

DIRECTION: Choose the correct answer from the lettered options.

1. Find the amount that 810, OO0 will be if saved for 3 years at 7% per annum.
A.N10, 700.43k

B. ¥12, 250.43k
C. N11, 449.43k
D. N13, 234.34k
E. 810, 250.43k

The correct Answer is Optian [B]

Solution

1® year principal  MM0,000

7% interest + 700 710000 = mo]
_ 100

2" year principal  M10,7 00

7% interest 749 %XID?DD ? ?49]
S \

3" year principal  #11,4 49

7% interest 850143 %x11449 =301.43]
— \

M12,250 43k

Amount =812, 250.43k

2. Find the simple interest on N1, 600 for 3'/, years at 6% per annum.
A. N672

B. N356
C.N336
D. N636

The correct Answer is Option [C]
Solution

P=MIBO0,R=6,T= %

SE8=LRE
100
8
o xbx7
1 =
- S.1=M336
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3. Find the simple interest on N1, 000 for 4%/, years and 9'°/5% per annum.
A . N174.72

B. N524.17

C. N1, 048.33
D.~10.28

E. N147.27

The correct Answer is Option [A]
Solution

P=M1000,R =9104 =37/ T=49/-17/

5
g = MI0EX3T x17

_ 5X31X17

6x3
=pM174.72

4. Find the simple interest on ¥29,275 for 2 yrs at 6%.
A.N3510.84

B. 83153
C.N3513
D.N3150.84
The correct answer is option [C].

Solution.

Simple Interest = =R /100 = 292752°6 /115 - N3513

5. Find the compound interest on 86,000 for 2 years at 8% per annum.
A.N998.40

B. ¥989.04
C.N899.40
D. N480.40
E. X994.80
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The correct Answer is Optian [A]
Solution

1% year principal  NEO0O0D

8% interest + 480 [% %6000 = 480J

2" year principal  M6480

8% interest 5184 [%xMSD =5184
6998 .4

But compound interest = 6998.4 — 6000
= M9938.40

)
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6. A man borrows N1, 000,000 to buy a car at 9% per annum compound interest. He repays
N95,000 at the end of each year. How much does he still owe at the end of 3 years?

A.N983,998.8
B. ¥983,609.5
C.N793,609.5
D.N885,677.5

The correct Answer is Option [B]
Solution

1% year; Principal
9% interest

=MN1000000

B 1090000
Repayment - 95000
2" year; Principal =M 995000

9% interest

M 1084550
Repayment - 95000
3 year: Principal = N 989550

9% interest

N 1078609.5
Repayment - 95000.0

=M 983609.5

.. Total owed after 3 years =N983609.5

+ 90000 (ixlooooooj
—— 7" lj00
o

+ 89550 (— ><995000j
100

+ 89059.5[i %9805 50]
100

7. How long will it take for prices to double if the rate of inflation is 30% per annum?

A. 256
B.276.2
C. 2226
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D. 219.7
E. 231

The correct Answer is Option [D]
Solution
Start with initial cost of 100 units

Initial cost =100

Rise = 30

After 1 year, cost =130

Rise = 39 (3—0><130)
100

After 2 years, cost =169

Rise = 507 (ﬂxle
100

=2197

After 2 years the cost a little more doubles the initial cost. Hence, prices will double in
just less than 2 years.

8. Calculate the simple interest on 8600 for 2 years at 4% per annum.

A.N48

B. 4,800
C.N408
D. N12.25
E. N480

The correct answer is option [A]
Solution

= FxRxT ¢ 600 x4x2 e
100 100

Simple interest 43

9. Find the amount that 35,000 becomes if saved for 3 years at 6% per annum compound
interest.

A.N5,345.05
B. ¥8,950.57
C. N5,955.08
D. ¥5,065.10
E. ¥6,055.08
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The correct Answer is Option [C]

Solution

1% year; Principal = N5000

6% interest + 300 [% X5000 | = N300
2" year; Principal = MN5300

6% interest + 318 [i %5300 | =M318

100
3" year; Principal = N5618
6% interest + 337.08 (1—(6)6x5618 =N337.08

Amount =p5955.08

10. Find the amount of 834,320 in 5 years at 6 '/4% per annum.
A.N45000

B. 45045

C.Nb0445

D. 50000

E.N70435

The correct Answer is Option [B]
Solution

34320=<6 % =<5
100

34320<25=<5
100 =<4

=pd
34326<125
406~

4290000
40

T=HKN10725
— amount =P +1
=34320 + 10725

=MN45045

11. Find the compound on 840,000 for 2 yrs. at 8% per annum.
A.N3,200

B. N6,656

C.N46,656
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D. 83,456

The correct answer is option [B].

Solution. Simple Interest

1st year = 40000x1x8 = N
3,200

100

N40000 + N3200 =N843,200
2nd year =

43200%1x8 =N

3,456

100

N43200 + N3456 = N46,656

Mathematics Exam Questions and Answers Pack

Compound Interest = ¥46,656 - 840,000 = N6,656.

12. A woman borrowed 575,000 at 8% per annum compound interest. At the end of the first
year she pays back ¥31,000. At the end of the second year she repays 830,000. At the end
of the third year she clears her debt completely. What is her final payment?

A.N6,000

B. 560,000
C. 854,000
D. 824,000

The correct answer is option [D].

Solution.

1st year

N75,000

8% interest +N
6,000 8/100"75000

N81,000-_N31,000

2nd year
850,000

8% interest + ¥ 4000 8/100x560000
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854,000 - 30,000

N24,000.

13. Find the sum to which ¥14,300 amounts in 2 years at 5'/2% per annum compound
interest.

A.N19,356.50
B. 25, 90.26
C.N17,910.26
D. ¥14,300.26
E. ¥15,916.26

The correct answer is option [E]

Solution

1% year, principal N14300

11/ Interest + 78650 (M]
2 200

1% year, principal N15086.50

5086.5

11/ Interest + 82976 (MJ
: 200

Amount MN15916.26

14. A house costing 8800,000 depreciated by 35% in its first year and 30% in its second
year. Find its value after 2 years.

A.N464,000
B.¥389,000
C. N595,000
D. N364,000
E. 279,400
The correct Answer is Option [D]
Solution
1*! year; value of house & 800000
- - s 35
35% depreciation 280000 | /100 =<80000 |
2"4 year; value of house N520000
iati z 30 52
30% depreciation 156000 | /IOOX 520000/
p364000

Page 230 of 266 Author: www.teststreams.com



Mathematics Exam Questions and Answers Pack

15. 24,000 is saved in an account which gives 7% per annum compound interest. Find the
amount after 2 years.

A.N25,680

B. ¥16,680

C.N27,477.60

D.N24,777.60
The correct answer is option [C].

Solution.

1st year

N24,000

7% interest +N
1,680 7/100%24000

2nd year
N25,680
7% interest + N 1,797.60
7/100"25680
N27,477.60.

The amount = N¥27,477.60.

16. Find the simple interest on ¥10,000 for 2 '/, years at 5% per annum.
A.N1250

B. N250

C.N3000

D. 81750

E. 2500

The correct Answer is Option [A]
Solution
_ PRT
100

10000 < 5x2 15
100

10 xS5x5
<
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17. Find the compound interest on 840,000 for 2 years at 5% per annum.

A.¥N41,000
B. 840,100
C.N1400
D. 84,100
E. 82,100

The correct Answer is Option [D]

Solution

1% year

1% year amount

2" vear,

Amount at the end of 2" year
=N 42000 +H42100

N44100

Compound interest = 44100 — N 40000

=N 40000 x5 x1

=N 2000
=N2000 +40000 =N 42000

18. Find the compound interest on N31,600 in 3 years if the interest rate is 5% per annum.

A.N4980.95
B. ¥4980.65
C. N4809.95
D. N4986.95

The correct answer is option [A].

Solution.

1st year
N75,000
5% interest

1,580 °/100%x31600

2nd year
N33,180
5% interest

1,659 °/100%x33180

3rd year
N34,839
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5% interest +N 174195
5/1oox34839
N36,580.95

19. Find the amount of ¥15,000 for 20 yrs at 6'/,%.
A.N18,750

B.N33,750

C.N18570

D.N33,5670
The correct answer is option [B].

Solution.

Simple Interest = PxTxR =15000%x20%25 =

N18,750

100

400

Amount = Simple Interest + Principal = ¥18,750 + 815,000 = 833,750

20. Find the simple interest on N¥131.70 for 6 years 8 months at 4'/,%.
A.N39.51

B. 859.50

C.N99.70

D. N109.65

E.¥40.50

The correct Answer is Option [A]
Solution

Note for 6 years 8 months
1yr=12 months
6yrs 8months = 65{2

= /1203
-2

131.70x20x9

T=%
100x3x2
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21. A man borrowed 5000 to buy a car at 6% per annum compound interest and repays
8520 at the end of the year. How much does he still have at the end of 4 years to pay?

A.¥N4,000.00

B. N4, 370.95
C.N4,037.59
D. ¥4, 307.59
E. N4, 073.59
The correct Answer is Option [C]
Solution
1% year principal ™5, 000
6% interest + 300 (LXM - 300)
=« 100 1
K5 300
Repayment — - 520
2 vear principal M4, 780
6% interest + 2868 (%XAI?SD = 286.8)
5,066.80
Repayment - 520.00
vear principal M4, 54 6.80
6% interest + 27 281 (%x4546_8[] = 272.81]
M4, 81961
Repayment - 52000
4" wear principal N4, 2 99 61
6% interest + 25798 (%xéugg.ﬁl =257 98]
M4 55759
Repayment - 52 0.00
N4, 03759

Total owned after 4 years = b4, 037 .59
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DIRECTION: Choose the correct answer from the lettered options.

1. Solve the equation

3a=2b+1
3b=5a-3

Mathematics Exam Questions and Answers Pack

TOPIC: SOLVING EQUATIONS

Using the method of elimination.

A.a=-5b=-8
B.a=5b=-8
C.a=-8b=5
D.a=1b=8
E.a=1b=-8

The correct answer is option [A]

Solution
3a=2b +
3b=5a-3

Let3a—-2b=1
Sa+3b=3 ...

.......... 2

Multiply equation (1) by 3 and equation (2) by 2
3Ba-2b=1)..........(1)
2(-5a+3b=1).......(2)

9a-6b=3.......

-10a +6b =2

Add equation 3 to 4

-a+0=5
-a=5
a=-5

@)

Substitute a = 3 in equation (1) above

3a-2b=1
3(5)—2b =1
15-2b=1
2b=1+15
2b= 16

b=16 =-g

—

-

Sb=-8
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2. Solve the equation; bp - 2x=4,p - 4x = -1.

A x=-05y=1

B.x=1y=-05

C.x=05,y=2

D.x=0.5y=-1

E.x=05y=1

The comred answer is option [E]

Solution
Sp— 2R = v (1)
p—4X=-1_........ (2)
Fromi{2ip=-1+4X ... . ... (3)

Substitute into (1)
5(-1 +4X) — 2X =4
5+ 20X—2x =4

S+ 18X =4
18X =4+5
18X =9

_ 9

18

X Zor0s
From (3)
P=-1+4(05%)
P=-1+2=1

3. Solve the equation; 4x+y =7,y - 3x = 9.
A.x=6.20,y=0.80

B.x=0.80,y=-0.29

C.x=7.08,y=8.16

D.x=-0.80,y=0.29

E.x=-0.29,y=8.16

The comed answvwer is option [E]
Solution

A + w =7 ... {13
V-3X =9 ......... (2)
From (1) w =7 —a> ... ... (3

Substitute the wvalue of > in equation (2)

74X -3xX =9
7 —7H=9
TH=9-—7

T =2z
> = ____‘
X =-029
From (3)

=7 —4(-0.2dM
=7+ 1.16
v=8.16
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4. Solve the equation: 2/ _x=4.
A3
B.5
C.9
D.1
E.2
The correct answer is option [E]
Solution
12=42X -1)
12=8X -4

BX=12+4
BX =16

x=18 25
b3

5. Simplify 28/6+2 9.
A.54

B. 27

C.30

D. 25

E. 22
The correct answeris option [E]

Solution
BODMAS — division first, multiplication and then addition.

24/ — —
4-4.2 x9 =18
4 +18=22

6. Solve the equation *~9/2 = 10.
A. 25
B. 29
C.35
D.12
E. 40
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The correct Answer is Option [B]
Solution

x=9 _

10
"

X -9 =20
Xx=20+9
Xx=29

7. Solve the equation of 2/3 - 1/4y =3/s.

A7/
B. 4%/5
c. "/
D.3%/4
E.®/16
The correct answer is aption [D]
Solution
2 Logd
3 4y 5
8p-3 3 .
i i cross multipl
17 3 ( ply)
58y -3 =3(12y)
40y -15=36y
collect like terms
40y -36y =15
4y=15
15
P i Y
y=—-=334

8. Solve the equation 2 '/, + 2°/,, = 0.
A 4

B.-1

C.-4

D.-6

E.6
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The correct Answer is Option [C]
Solution

2
2%+ 22 =g

2x
i + 2 =0
2 2x
5X+ 20 —
2X b
Cross multiply
5X + 20 = 0(2X)

x:ﬂ
5
X =-4

9. Which of the following mixed fractions is equivalent to '/ /3?

A.5%/3
B.5'/7
C.5%3
D.5%/6
E.5%/5

The correct answer is option [A]

7 . 0.02x12
10. Simplify ————
Ry 4x0.03

A.02
B.0.02
C.0.002
D.-2

E.2

The correct answer is aption [E]
Solution

4x0.03 012 120
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11.Solve °/7a-1-4/9 = 0.
A1/,
B. 15/
C.15/s
D. 17/,
E. 1%/,

E.

The correct answeris option [D]
Solution

¥ — yif y=-2

(2P -(2)=-8+2=56

The comrect answer is option [E]

Multiply both sides by 8{(7a —4)
5 4
-9(7a—-1)x—
( ) o )

45-28a+4 =0

8| &

. Find the value of y® -y if y = -2.

o 0w >

Mathematics Exam Questions and Answers Pack

13. Solve the following simultaneous equation:

An=1/3m=3
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B.n=1/2m=4
C.n=12,m=1
D.n=1/5m=1
EE.n=1/5m=5
The correct answer is aoption [C]
Sm-2n=4 .. ... (1)
m-4n=-1 ... .. (2)
From equation (2) m==1+4n...........(3)

Substitute this value into equation (1)
5(-1 +4n)-=2n=4
-5 +20n-2n =4
20n-2n=4 +5
18n=9
1
n: —-—
2
But m=-1+4n

m=-1+4 (1]
2
m=-1+2=1

h=—= m=1

[

14. What is the value of @~ °/5when a = -10 and b = 30.
A -4

B.4

C.2

D.-2

E.1

The correct answer is option [B]
Solution

a-b —10-30 _ —40

2 —-10 =10

=4

15. Solve the equation of 3X + 4 = 5X - 6.
A4

B.7

C.5

D.9

E.10
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The correct answer is option [C]

Solution
5X -3X =6 +4
+2X =+10
_ 10
2
X=5

16. What is the coefficient of x in the expansion of (x - 3)(x +5)?

A9
B.7
C.-3
D.-15
E.+2
The correct answer is option [E]
Solution
(3 —3)(x +5) opening the bracket
2 +5x—3x-15
X +2x - 15x

. the coefficient of X = +2
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TOPIC: SOLVING TRIANGLES

DIRECTION: Choose the correct answer from the lettered options.

1. Find the value of g satisfying the equation: sin 65 = cos
A.10°

B. 60°

C.30°

D. 25°

E. 40°

The correct answer is option [D].

Solution

Cosf=sin(90- 8
SinB5=sin(90- &

B5=90- 8
8=90-65
g=25°

2. A cone has a base radius of 6cm and height of 8cm. Find its slant height.
A.28cm

B.10cm

C.8cm

D. 6cm

E. 5cm

The correct answer is option [B]
Solution.

Using Pythagoras slant height =X

x2=g" +p*

¥ =B4 +36 = 100
%2 =100

. X =100 =10cm
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3. A painter has a ladder 25 meters long. He placed it so that it reached a point 20 meters up
the wall. How far is the foot of the ladder from the wall?

A 12
B. 10
C.15
D. 30
E. 25

The correct answer is option [C]
Solution

Lets represent the quest with a diagram.
| weall

25
20m L

ladder

r

Using Pythagoras theorem 25% =20% + ©#

625 =400 +r*

r¥ =625 — 400 = 225
square root both sides

4. In a triangle ABC with angle B = 90°, AB = 6¢cm, BC = 8cm. Calculate the length of the third
side.

A 12
B.7
C.10
D.5
E.14
The correct answer is option [C]
Solution
A
Becm
g T N

Scm

ACE =
=36 +64 =100
~AC = .00 =10cm

Using Pj\(thagoras AC? = AB? + BC?
B +8
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5. The angle between two parallel linesis _________.
A. 360°

B. 180°
C.0°
D. 90°
E. 60°

The correct answer is option [C]

<
6. Given that sin A ='—3 ,findtan A.
™~

A 2/s
B."3/12
C.%/1
D. 2/

E.%/13

The correct answer is aption [C)
Solution

Find sin A = % we have the diagram

Since Sin= 222
hyp

Using Pyth;goras we can find the rearranging part b
F +h* =1

b =13%-5%° =169 —25 = 144
Taking sguare root of hoth sides

b= 144 = 12
S TanAa=222_3
AG 12
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7. A cone is 8cm high and the vertical angle is 54°. Calculate the radius.

A.2.18cm
B.1.53cm
C.2.96cm
D. 4.08cm
E. 3.00cm

The comed answer is option [D]
Solution

L~

8cm

Tan 27°="4
r=8Tan27°
r=4.08cm

8. Inthe right — angled triangle ABC, calculate the value of X
A

25¢cm

xXem

= 20cm

A.10cm
B. 15cm
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C.18cm

D.20cm

E. 25cm

The correct answer is option [B]

Solution

28cm
Xem
) 20cm @

Using Pythagaras theaorem
AC = AB? + BC?
25 = %% + 207
wi= 28 — 20F
¥ = 625-400
Xt =225

2 X =225 =15cm

9. Find the angle marked X in the diagram.

0

75

0

40 X
A. 85°
B. 25°
C.60°
D. 90°
E. 65°

The comredt answer is option [E]
Solution
The angle in a tiangle — 180
75 +40+ X =180°

115 + X =180°
S X=180-115°
=557
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10. Inthe right _A angled triangle ABC, calculate the value of X

25¢m

Xem
20cm &
A. n tan
B.n cos
C.nsec
D. n cot
E.nsin

The cormrect answer is option [A]
Solution

v is on the opposite side of the angle &
YWhile nis on the adjacent side of the angle

Tan &= %:Z

adi n
Make vy the subject of the formula
y=ntan o

11. What angle is formed by the seconds and hours hands of a clock at 6pm?

)1800

A. 360°
B.180°
C.90¢°
D. 60°
E. 45°

The correct answeris option [B]
Solution

AtBpm the angle formed = 180°
Or®# 2 of a revolution; 1 revolution = 360°

ﬁﬁag %360 = 180°
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12. Calculate the lengths: 'a’ and ‘b’ (Let the lengths be in cm)

S b
370

A.a=obcmanabp = /c%
B.a=5cm and b = 4cm
C.a=14cm and b =13cm
D.a=3cmand b=2cm
E.a=4cmand b =3cm

The correct answeris opton [E]
Solution

Sin37 =%

bh=5 sin 37

bh=3cm

Cos37 =%

a=5Cos37

a=39%9cm

a=4cm

13 What is the value of H?
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The comredt answer is option [C]
Solution
ot o =104°
2a=104°
8 104°
g
a="52°

Tan52° = —
h
Htan 52°=7.5

/D
H= —
tan 52°
H=5.860

H = Bcm

CL

14. Findthe value of X in the tnangle

81m
X0
100m
A. 200
B. 390
C.1850
D. 490
E. 380
The correct answer is option [B]
Solution
8
Tan X = il
100
Tan X =081
X=tan" 0.81
A =39

Page 250 of 266 Author: www.teststreams.com



15.  Find the value of ¢ inthe diagram drawn .

78
150 ]
C
A. 595
B. 250
C. 291
D. 361
E. 400
The correct answer is option [C]
Solution
Using trigonometric ratio
Tan 15 = A Cross multiplying
c
c Tan 15°=78 Dividing through by Tan 15°
= "8
Tanl5’
=291.1 ~291
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TOPIC: STANDARD FORM

DIRECTION: Choose the correct answer from the lettered options.

1. The population of two cities are 559 10° and 4.67 10°. Find the difference between the
two populations. Express this in Standard Form.

A.10.26 10"
B.9.2 10™
C.92 10°
D.92 10
E.9.2 104
The comect answer s option [C]
Solution
5.59x 10° =5.59x 1000000
= 5530000
4.67 x 10° =4 .67 1000000
= 4670000
= 55390000 — 4670000
= 920000
=92x10°

2. Express the following in standard form; 0.478.
A.478 107

B.47.8 10

C.478 1072

D.478 1072

E.478 10

The correct Answer is Option [A]
Solution
0478 478 x01

478 x 10

3. Express ’3/10000 in standard form.
A.73 10
B.7.3 10°
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C.730 10°
D.0.73 10
E.73 107

The correct answer is option [A]

Solution

Mathematics Exam Questions and Answers Pack

BB skt =73x10°
10000 10 10

73x10%=73x10°

4. Find the value of 3.7 x 10° - 4.8

A. 3.22 x 10°
B. 3.22 x 10*
C.3.22x10°
D. 3.22 x 10?2
E. 3.22 x 108

10 and give the answer in standard form.

The comed Answer is Option [A]

Solution
1" method — charge to ordinary from
3T = 3.7 100000 = 370000
4.8x 10¢ =4 83 10000 = 4800

= 370000 — 48000

= 322000

=322x 10°
OR
Factorise

3.7x10° -4.8x 10
=10*(3.7x 10-4.8)
=10%(32.2)
=10%*{3.22 x 10)
=3.22x 10°

5. Express the following in ordinary form: 1567 107°..

A.0.000157
B. 0.0157
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C. 0.00157
D. 0.0000157
E. 0.157
The correct Answer is Option [D]
Solution
157 x 103 1.57 x 0, 00001

0.0000157

6. Simplify the following and give the answer in standard form: 7.9 10°+4 10°
A.794 108

B.7.94 108

C.794 10°

D.7.94 1073

E.7.94 10°

The comedt Answer is Option [D]
Solution
Factonse
Cormmon factoris 10°
102 {7.9 +4 x 10 )
=10%{7.9+4x0.01
=10°{7.9+ 0.04)
=10°(7.94)
=794 % 10°

7. The area of Port Harcourt is 123540km?2. Express this area in correct to 3 significant
figures.

A.123 107°km?

B.124 107°km?

C.5.40 10%m?

D.1.24 10° km?

E.124 10%km

The correct Answer is Option [D]

Solution

123.540 x 1000
=1235x 103
= 124 x 10° km2
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8. Nigeria has an estimated population of 6.05 107 people and a land area of 6.7 10%*m?2.
Calculate the population density of Nigeria.

A. 906 (people / km?)

B. 800 (people / km?)

C. 900 (people / km?)

D. 912 (people / km?)

E. 900 (km?/people)

The correct answer is option [C]

Solution
Population density = average number of people per km?

6.05x107
6.7 x10*

<
: a0 6

~ x10°

=0.90x 10°

=9.0x 10" x 10°
=90x10°

=900 (people / km?)

9. Express the following in standard form: 56.3.
A.56.3 10?

B.5.63 10

C.0.0563 1073

D.0.0563 10°®

E.0.0563 1073

The correct answer is option [B]
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10. Simplify the following and give the answerin 1.3 102-7.8 10
A -65 107

B.0.52 10
C.52 10*
D.52 108
E.52 10*
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TOPIC: STATISTICS

DIRECTION: Choose the correct answer from the lettered options.

1. Marks out of 10 were given to 8 students as follows: 5, 8, 7, 9, 3, 6, 3, 4. Select the marks in
ascending order of size.

A1,235,6,78,9
B.3,3,456,7,89
C.4,56,8,9, 3, 2,1
D.9,8,7,6,5 43,2
E.6,3,45,76,35

The correct answer is option [B]

2. Find the median of the following set of numbers 2, 3,5,7,6,8,2,7,9, 2.
A.55

B.4
C.65
D.7
E.5

The correct answyer is option [A]
Solution

To find the median we arrange the set of numbers in ascending or descending
order.

2,2, 2, 3,5,6,7, 7, 8, 9(Ascendng order)

5+6 11
Median = ~—4~ 2 === =55

2

3. Find the mode of the set of numbers 2, 3,3, 3, 4,6, 8,9, 9, 12.
A2
B.4
C.3
D.6
E.9

The correct answer is option [C]
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4. In an examination of a class of twelve, the following marks were scored in mathematics 5, 4,
2,8,5 4,7,2,5,4,3 and 5. What is the median mark?

A7

B.5.5

C.5

D. 45

E. 4
The correct answeris option [D]
Solution

Median=22344455557 8
” 4+5 =45

5. In an examination of a class of twelve, the following marks were scored in mathematics 5, 4,
2,8,5,4,7,2,5, 4,3 and 5. What is the mean mark?

A.45
B.4
C.5
D.55
E.6

The correct answer is option [A]

Solution

S5+44+24+8+54+44+7+2+5+4+34+5
12

Mean =

= 54!12 = 45

6. In an examination of a class of twelve, the following marks were scored in mathematics. 5,
4,3,8,5,4,8 2,5, 4, 3, and 5. What is the median mark?

A7

B.5.5
C. 44
D.3.9
E. 45
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The correct answer is option [E]

Solution.
Median mark = Arrange in either ascending or descending order
2,3,3,4, 4,455 5 5 8,8 (Ascending order)

Median = “zi =45

7. Find the mean, median and mode of 5, 8, 8, 5, 2, 5, and 9.
A. Mean = 6, median =5, mode =5

B. Mean =5, median = 5, Mode =5

C. Mean = 7, median = 6, mode =5

D. Mean = 6, median = 8, Mode = 2

E. Mean = 9, median = 5, mode = 8

The correct Answer is Option [A]

Solution
Mm=5+8+8+5+2+5+9f? =42’.’?= 6

Median= 2, 5, 5, 5, 8, 8, 9 (Amange them in
gither ascending or descending order,

the middle number is the median) = 5

Mode is the number that appearthe most =5

8. Find the mode of the following set of numbers: 6,5, 3,6, 3,2, 4,6, 4,5, 6, 4.
A 2
B.5
C.4
D.6
E.3

The correct answer is option [D]
Solution
Rearrange the number in ascending order.
2,3,3,4,4556,6,6,6
Mode = most occurring number
=6

9. The difference between the smallest and largest numbers in an observationisthe________.
A. mean
B. median

C. mode
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D. range
E. subtraction.

The correct answer is option [D]

Solution
A, Mean = average
B. Median = the middle number
C. Mode = most occuring
D. Range = is the difference between the smallest and largest
numbers in an ohservation
10. A pie chartis like ______in shape.
A. a circle

B. a rectangle
C. a square
D. a trapezium
E. a triangle

The correct answer is option [A]

11. The scores obtained by 10 students in a test are: 1, 3,5, 6, 4, 7, 6, 7, 5, 6. What is the mode
of the scores?

A1
B.3
C. 4
D.5
E.6

The correct answer is option [E]
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TOPIC: WORD PROBLEMS

DIRECTION: Choose the correct answer from the lettered options.

1. What is the expression of a number that is 7 less than the product of 9 and p?

A 2p
B.-2p
C.7-9p
D.9(p-7)
E.9p-7

The correct answer is option [E]

2. Subtract the sum of 89 and 357 from 2000.
A. 2268

B. 2179

C. 1911

D. 1643

E. 1554

The correct answer is option [E]

3. A motorcycle uses 5 liters of petrol for a journey of 30km. How many liters will it use for a
distance of 174km?

A. 150 liters
B. 35 liters
C. 29 liters
D. 25 liters
E. 6 liters
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The correct answer is option [C]
Solution.
2 litres = 30

For each km we use % litres

W5
g, —=— 1
30 30 /6
If 1km = 4 litres
o 174Km = 174 % % = 29 |itres

4. The sum of two numbers is 31. 2/3 of one of the numbers is equal to 5/8 of the other. Find
the two numbers.

A.16 & 13
B.15 &1
C.16 & 15
D.13&15
E.13&14

The comredt Answer is Option [C]
Solution

Let the two numbers be s and t
1%t statement s + t = 31
2" ctatement %5 s = %%t
From equation {2) cross multiply
(25)8 = 3(5t)
165 = 15t
16s—158t=0 .............. (2)
From equation (1) S=31-t
Substituting for S in equation (2)
16 (31-1)-15t=0
496 — 16t — 15t =0

496 -31t =0
496 = 31t divide through with 31
496 3
31 31
~t=16
Substituting fort in equation ... (1)
S+16=31
S=31-16
-~ 8=15
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5. A number multiplied by itself is equal to 5%/4. Find the number.

A.5?%/3
B.5%/9
C.7/3
D. 3/7
E.5%/4
The comrect answeris option [C]
Solution
Let the number be X and X
A X= 4—9
0
}{2 = £
0
K= ﬂ
0
K= _
3
Check
7 7 49 _4
- Mrrmas :_\_
3 3 9 0

6. Divide 20 by the difference between the product of 2 and 5 and the square root of 64.
A b

B.-10

C.3.33

D.8

E. 10

The carrect Answer is Option [E]
Solution.

Require value = S
(2 x5) - ~f64
» 20
10-8
= AL
= 10
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7. A number is multiplied by itself, the product is 6'/4. Find the number.

A .2/,
B.21/3
C.1%/s
D. 22/5
E.1/s
The correct Answer is Option [A]
Solution
:;ext :)h: gleber be P
p? =%,

Taking square root of both sides

p=h =2l

8. A car starts a journey with a full petrol tank. The amount of petrol (p) litres left is given by
the formula p = 63 - 10t. How long will it take the car to run out of petrol? (i.e. find t when p =
0).

A. 63 hours

B. 6.3 hours

C. 6 hours

D. 1 hour

E. 3 hours

The correct Answer is Option [B]

Solution
P=63-10t
Vwhenp =0
63—-10t=0
-10t=0-63
10t =-63
f= -03

-10

t=6.2 hours

Page 264 of 266 Author: www.teststreams.com



Mathematics Exam Questions and Answers Pack

9. Find the positive difference between 31 and the product of 4 and 14.
A.56

B. 31
C.25
D. 28
E. 35

The correct answeris option [C]
Solution

Positive difference between 31 and the product of 4 and 14
4 %14 =56

56 -31=25

10. A book with 6,000 pages weighs 30kg. What is the weight of a similar book with 1,200
pages?

A. 6kg
B. 4kg
C. 45kg
D. 5kg
E. 5.5kg
The comedt answer is option [A]
Solution.
6, 000 pages weighs 30kg
1 page = XKg
30 1
6000 200

1

1, 200 pages will weigh =1, 200 x —

Pes g 200
=6kg

11. Two-thirds of a certain number is equal to the sum of three-seventh and one-third. Find
the number.

A. 1/ 2
B.%%/63

C. 2/3
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D. 7/8
E. 1/,

The correct answer is option [E]
Solution
Let the number be p

-3

Take Lcm of the RHS

hr=A+ 4

947 16

Cross multiply
2px21=3x16

42p =48

Divide through with 42

8
o e MBS o e ]
Lp ,4_2'?_/{_1?_

12. The difference between two numbers is 4. The result of adding twice the first to the
second is 20. Find the values of the numbers in that order.

A. (4, 8)

B. (8, 4)
C.(9'/3,13"/3)
D. (12, 16)

E. (16, 12)

The correct answer is option [B]
Solution.
Letthe numbers be a and b
a—h=4 ... ()
2a+b=20 ... (D)
From equation{1)a=4 +b
Substitute a =4 + b into equation (2)
2{4 +h)+h =20
8+2b+h=20
8+3b=20
Take like temns
Sbh=20-8
3b=12
~h=4
Substitute b into equation (1)
a—hb=4
ra=4+4 =8
L B.4)
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